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The following table presents the number of sports shoes produced by seven different companies A-
G (in lakh) along with the percentage (%) of sports shoes rejected and percentage (%) of sports
shoes sold by these companies during the years 2022 and 2023. Based on the data in the table,
answer the questions that follow.

Company-wise details of sports shoes

Year 2022 Year 2023
Company | Number |Rejected| Sold | Number | Rejected | Sold

(n lakh) (%) (%) |(inlakh)| (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 2 76
5 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 31 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 5330727165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the production of sports shoes by company C from the year 2022 to
2023 ?

(1) 15375 %
(2) 20.625 %
(3) 15625 %
(4) 10.625 %
Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 5330727166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the sale of sports shoes by company F from the year 2022 to 2023 ?
(1) 12 %

(2) 25 %

(3) 15 %

(4) 20 %

Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 5330727167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2/122



8/30/24, 11:26 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

What is the total number of rejected sports shoes from all the companies together in year 2022 ?
(1) 835000
(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 5330727168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Total number of sports shoes sold by all companies in year 2023 is approximately % of
the total number of sports shoes produced by all the companies in that year.
(1) 84

(2) 79

(3) 72

4) 75

Options :

1.1

2.2

3.3

4.4

Question Number : S Question Id : 5330727169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Percentage rise in the production of sports shoes from the year 2022 to 2023 is more than 25 % for
exactlly _ companies.

e,
2)
()
4)
Options :
1.1

2.2

3.3

4.4

Ul o= W R

Question Id : 5330727164 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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e arferert # | =1 ufi (A-G) gR1 = 2022 9 99 2023 § Seifed @l & Sl 1 S (A W),
LR W & Sl o1 favra i Safal R o T Ee 3 Sl o 9fae (%) fomn man g1 aifes § uew e
% SR W, AN F WA F I Sl |

e & el R shuAT-are faeror
ay 2022 aef 2023
P FE=T |ardled| Rt | I |ardleal (it

(Fra#A)|[ (%) (%) (=) | (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 3 76
¢ 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 81 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 5330727165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FUA C g ad 2022 ¥ 2023 H Ierfed @a % S W ufowd afg fead &2
(1) 15375 %
(2) 20625 %
(3) 15.625 %
(4) 10625 %
Options :
1.1
2.2

3.3
4.4

Question Number : 2 Question Id : 5330727166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FU F g o9 2022 ¥ 2023 B o9 T WA F 5l § foFer wfove Ifg g ®7?
1 12%

(2 25%

(B) 15 %
(@4) 20 %
Options :
1.1

2.2

3.3
4.4

Question Number : 3 Question Id : 5330727167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 4/122



8/30/24, 11:26 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

ad 2022 # 9t Fufai T T STeeiFa Be F Sal B o e fhal § 72
(1) 835000

(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 5330727168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

guft Fufal grn ad 2023 # faskt fFre U B@ F 6 F T g 35 g9 § 9 wufral g senfea

oA F el 1 FHe WS FHI TR % B
(1) 84
2 79
(@) 72
(4) 75
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 5330727169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad 2022 | 2023 H A F 9di o 3 ¥ g8 ulave gig StF-Si FYfTdi o e 25 % 9
e 2
1 2
(2 3
@) 4
(4) 3
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072285
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330727170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 5/122
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To teach a particular topic a teacher first gives the students to watch the pre-recorded video of the
lecture at home and then engages the students in discussions and pmblem solving achvities in the
class. This is an example of :

(1) Lecture-demonstration
(2) Flipped classroom
(3) Asynchronous learning
(4) Synchronous learning
Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 5330727170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forere wa fafore fawg & oo & fom faenfe=i = samem ged gd # fere fFu o sifed ea | w
o o fore 3 ® 3 3Hek ag e | Feiel au Sue- g iatatdl § Sifod s 1 98 fege
e IR0 & ?

(1) =rEA freeE

(2) el e (fHeTe Fae ®H)

(3) THEHICTE AfRTH

(4) HEFIfCTh e

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 5330727171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which component of Baddeley’s basic working memory model is involved in the task of Rapid
repetition of the word like “See-Saw” ?
(1) Visuospatial sketchpad

(2) Bounded rationality

(3) Phonological loop

(4) Meta-cognition

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 5330727171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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-1 (See-Saw) ST Feg T asil § TG o F14 H Sl F SNURYT FEAWF Wi qiee F1 HHE
Hees ofae &7
(1) Tagsidifyae et
(2) YEs Figarea
(3) w@HmF oM
(4) AT (HEEHRTAYA )
Options :
1.1
2.2

3.3
4.4

Question Number : 8 Question Id : 5330727172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher wants his students to watch pre-recorded videos and answer questions embedded in the
videos. Which tool would be most suitable for this purpose ?

(1) Edpuzzle
(2) Evernote

(3) Google Docs
(4) Strawpoll
Options :

1.1

2.2

3.3

4.4

Question Number : 8 Question Id : 5330727172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ue T =medn © T suer faened gd # et foru o difed o1 3@ @i sifedl # wf=fea wei & s <
39 WA % T S ST (26) Halfeen 399 8 ?

(1) TEUSA

2 TR

(3) T ST

(4) I

-

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 5330727173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - 11
(Swayamprabha Channel No.) (Name)
(A) Channel : 04 (I) Kautilya
(B) Channel : 05 (I Vidhik
(C) Channel : 06 (Il) Prabandhan
(D) Channel : 07 (IV) Saaraswat

Choose the correct answer from the options given below :
(1) (A)-(L), (B)-(1I), (C)-(IV), (D)-()

(2 (A)-(IV), (B)-(III), (C)-(II), (D)-(T)

(3)  (A)-(I), (B)-(II), (C)-(IL), (D)-(IV)

4 (A)-(1I), (B)-(IV), (O)-(I), (D)-(1I)

Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 5330727173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hel-1 9 gHi-11 =1 fers wifs
Hel-1 -1
( TETWT B HWEAT) (7))
(A) = : 04 () ifeea
(B) oA : 05 () Tafues
(C) = : 06 (III) TaeA
(D) =7 : 07 (IV) IR

= feu T fomredi H @ W@ I =9 HIfN
(1) (A, (B)1D), (©)-IV), (D)-(I)
(2)  (AIV), (B)~(LIL), (C)-(LD), (D)-(I)
(3)  (AD, (B)-1D), (C)-(Im), (D)-(IV)
(@) (A1, B)-1V), (O)-1), (D))
Options :
1.1
2.2

3.3
4.4

Question Number : 10 Question Id : 5330727174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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An instructor uses portfolio assessments in an art class. What key components should be included
in the students’ portfolios ?

(A) Collection of completed art works

(B) Reflective essays on their creative process
(C) Standardized test scores

(D) Peer feedback and critiques

Choose the correct answer from the options given below :
(I) (B) and (C) Only

(2) (A), (B) and (D) Only

(3) (A)and (C) Only

(4) (C) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 10 Question Id : 5330727174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ST el &1 oherl H dSwiferd geais 1 wga o &1 faenfef & aieferi # fr ger gew
1 wfewfera fan ST Ay 2

(A) YUl FHeTRiaAl 1 GUE

(B) SeR! HorTcHe Wiehdl W fHamefial faiy
(C) WA qL401 ek

(D) TEReft ot gfagfie sit Enme=Ad

= feu o faspedi § 9 WaE W F =TI FIAC
(1) o (B) 3T (C)

(2) % (A), (B) #R (D)

(3) I (A) ¥R (O)

(4) A4 (C) ¥ (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 5330727175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC Regulations 2018 on Plagiarism, which of the following percentages of similarity
in a research article would result in debarring a university teacher from supervising a PhD. Student
for a period of two years ?

1 27%
(2) 38 %
() 44 %
(4) 65 %
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 5330727175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wifeferss = o o) #9579, faf=ae 2018 o @R fofdl oy g § gamd & fora wfasrd o o
< 99 =i @ty o forg f.w= S, foeneft & vdasmo & favafasmera & fes =i Sfaa fear smam ?

(1) 27 gfqerd
(2) 38 wfqerd
(3) 44 gfaer
(4) 65 gfaemE

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 5330727176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following methods of graphical representation of data would be useful in showing
association between two variables ?
(1) Ogive

(2) Pie charts

(3) Histogram

(4) Scatter plots

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 5330727176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 10/122
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frfafaa & & et fafy g % crafate fEgw & foau @ =@ % 9= g6y g9 % fau sagef e ?
(1) =rafeervl (&irsiea)

(2) €A

(3) e fae (fewnm)

(4) TomRvl UM (The wied)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330727177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the threats to internal validity.

(A) Selection threat

(B) Maturation threat

(C) Attrition threat

(D) Testing threat

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (O) and (D) Only

(3) (A), (©) and (D) Only

) (A), (B), (© and (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330727177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

siidfees e 3 wf @l i gEaE Fh
(A) =99 Hadfi TR (FaaE 92)

(B) UftvgE et Tl (FegieH 92)

(C) Heu Fae T (Tfeed 9°)

(D) Tfteor Heidlt way (=T 92)

= feu o fased § 9 W& W FH =TI FIGC
(1) =€ (A), (B) 3R ()

(2) = (B), (C) =R (D)

(3) = (A), (C) ¥R (D)

4)  (A), (B), (O) 3R (D)

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 11/122
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1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 5330727178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the datasets with the following means (% ) and standard deviations(o) in decreasing
order of their coefficients of variation.

(A) o0=43, X =138

(B) o0=38, x =127

(C) o=57 x =149

(D) o=4.7, x =14.1

Choose the correct answer from the options given below :
(1) (A). B), (C), (D)

(2)  (B), (O), (D), (A)

(@) (©), (D), (A) (B)

(4) (D), (A), (B), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 5330727178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<q TRl &I frefafea meEt () S wFE famer (o) % @ 31E fo=wor qoiE % Hed wW § Fatted
Fifer
(A) o=43, ¥ =13.8
(B) ¢=3.8, x =12.7
(C) ¢=57 X
(D) o=4.7, X =14.1
A= fou o fased § 9 W& W FH T FIGC
(1) (A) (B), (O, (D)
2 @), (O, (D) (A)
(@) (©, (D), (A) (B)
@) (D) (A) (B), ©
Options :
1.1
2.2

3.3
4.4

=14.9

Question Number : 15 Question Id : 5330727179 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/122
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Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Scale of Measurement) (Example of Variable)
(A) Nominal (I)  Height of students
(B) Ordinal () Time of Day
(C) Interval (II) Caste
(D) Ratio (IV) Rank of Army personnel

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A1, (B)-(ID, (©O)-(1V), (D)-1)

(3)  (A)-(L), (B)-(1V), (C)-(1L), (D)-()

4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 5330727179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 GE-11 =1 THe i

i1 -1

(\Ta T Y ) (= T QT )
(A) e (FAfETe) () feenfeE it oo
(B) HAgTE (HAMET) () fea =1 w7
(C) 3T (1) =ifa
(D) &I (IV) H=rHl =i I

A=t feu T foepedi H 9§ W& I =4 HIW
(1) (A1), (B}-(IT), (CO)~(II), (D)-(IV)
(2) (AL, (B)-(1D), (C)-1V), (D))
(3)  (A)-(I), (B)-(IV), (O)(ID), (D)-(I)
(4) (A1), (B)-(D), (C)-(I), (D)-(I1)
Options :
1.1
2.2

3.3
4.4

Question Number : 16 Question Id : 5330727180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 13/122
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The major difference between Television and Cinema is :
(I) Eye movement

(2) Sound reverberation

(3) Bandwidth

(4) Liveness differential

Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 5330727180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FeAtfarer ofr o § g s = 2
(1) 9 g=e

(2 =M SFIE

(3) e ek (s fagy)

(4) Sidaa fadew

Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 5330727181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to David Holmes, the textual or behavioural qualities of communication are determined
by the architecture of the particular -
(1) Medium

(2) Message

(3) Noise

(4) Ideology

Options :

1.1

2.2

3.3
4.4

Question Number : 17 Question Id : 5330727181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sfoe &9 o SER, TR ge-fauge a1 SHaer e quermed # fafe 1 Gl
(enfeheaaR) § ffor o s €1
(1) Heam

(2) W

(3) W

(4) fEa=mEm

Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 5330727182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The medium of Internet is described as :
(A) Restricted possibility

(B) Unimpressive theology

(C) Universalist

(D) Redemptive

(E) Electronic assembly

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(@ (B), (O (D) Only

(3) (©), (D), (E) Only

(4)  (A), (B), (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 18 Question Id : 5330727182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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222 °F WY o fRg w9 ° 9viF forar s © 2
(A) wfasfea Fyrera

(B) STHWTERE YHfag™
(C) wrEYdmarT

(D) far=®

(B) seraRiieh WS

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) = (A), (B), (C)
(2) = (B), (O), (D)
(3) %= (C), (D), (E)
(4) A (A), (B), (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 19 Question Id : 5330727183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the following modes of communication :
(A) Written

(B) Face-to-face

(C) Print

(D) Broadcasting

(E) Datacasting

Choose the correct answer from the options given below :
1) (A), (©), B), (), D)

(2 (B),(A) ©), D) (B)

(3)  (©). (D), (E), (A), (B)

4) (D), (B), (A), (B), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 19 Question Id : 5330727183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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g o frfatad Ml & HE T HE Sl Ted FHife ;
(A) fafaa

(B) SHA-HIHA
(C) H="
(D) WERO
(E) SerehIfa

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) (A) (Q), (B), (E). (D)
(2) (B (A) (C) (D), (E)
3 ©, (E), (A), (B)
4) O (E) (A), (B), (O
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 5330727184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Concept) (Description)
(A) Closed text (I)  Verbal expressions
(B) Principle of safety (II) Basic rhetorical structure
(C) Orality (ITI) A text to elicit a single response
(D) Cluster (IV) Avoidance of risk

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A1, (B)-(ID, (©)-(1V), (D)-1)

(3)  (A)-(LD), (B)-(IV), (C)-(L), (D)-(II)

4)  (A)-(IV), (B)-(I), (C)-(IL), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 5330727184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Teit-1 9 -1 =1 fies i
Teil-1 Tt-11
( ST ) (Fuia)
(A) TgH TS (1) g sfveafaaal
(B) Htem waHt fagia (I) T STEHRIE G
(C) HifiEswa (III) Teel =1feRaT 9Te A o foa ore
(D) HE (FF=) (IV) SifEd | ==

= feu T fomredl H ¥ W@ I A =9 FIW
(1) (AND, (B-(I), (O, (D)-(IV)
(@ (A)-W, B-, ©-1V), D)
(3) (A1), BHIV), (O-D, 1)
(4)  (A)IV), (B)-(1), (C)-(IL), (D)~(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 21 Question Id : 5330727185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the value of the expression :

(0.12x 0.12x0.12)+(0.012x0.012x0.012)
(0.48x0.48x0.48)+(0.048x0.048x0.048)

: 1
M 15
1
@ 3
(3) 4
1
@ =
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 5330727185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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(0.12 % 0.12 x 0.12) + (0.012 x 0.012 X 0.012)
(048 0,48 0.48) + (0.048 X 0,048 x 0,048) 1 17 31 PITSIC

T
T
& <
@) 4
T

Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330727186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the series given below. Find the number which can be inserted at the place of question

mark (7).
5, 14, 39, 88, 209, 7, 667
(1) 378
(2) 297
(3) 299
(4) 375
Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330727186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= & T 9ol W fo=Er Fifew | w9 fag % e W e wenfg sk S Srel 9E J19 S
5, 14, 39, 88, 209, ?, 667

(1) 378
(2) 297
(3) 299
(4) 375
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 5330727187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is/are true ?
(A) If the selling price (SP) of an article is ¥ 40 and the gain is 15 %, the cost price (CP) of the
article is ¥ 32

(B) A man bought a toy for ¥ 150 and sold it at a profit of § %. He sold the toy for ¥ 162

(C) A man buys a cycle for ¥ 500, but due to some problem, he sells it for ¥ 400. He thus incurs
a loss of 22 %

(D) Cost price of an article, if its SP is ¥ 210 and the loss is 30 %, is ¥ 300.
Choose the correct answer from the options given below :

(1) (A) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (B) and (C) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 23 Question Id : 5330727187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefarfaa # & #m ar/8 g g/E?

(A) Afg forHT =reg o1 fasha qed T 40 § ALY 15 % &, 1 o5 o1 @R Jed T 32§

(B) U&=l A T 150 1 Uk FEgeiia1 Eliel 3K 39 8 % HAF W o= | 394 faein #1 T 162 # o=

(C) T =Afa T500 H Uk Wrefohel Weal €, W el 0w & FR0 9% 39 T 400 H 9=l €, 3H YER
W 22 % B A €

(D) afe fordt areg =1 forrg Heg T 210 TR =1 30 % & o 39 =% o1 @Fd 464 T 300 &

v feu o faredi § 9 WE I 1 =TI FIfSU

(1) e (A)

(2) FEA (A) 3R (D)
(3) ae (B) 3N (D)
(4) = (B) 3 (O)
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330727188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In a certain code language :

“Bitter patience sweet fruit” is coded as : “Bo Po So To”

“Art is sweet happiness” is coded as : “Ao Io So Ho”
“Hoping is concealing bitter” is coded as : “Hp lo Co Bo”
“Patience is art of hoping” is coded as : “Po lo Ao Fo Hp”
How “Patience is happiness” will be coded in this language ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330727188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Eaeil HE HHT -

“Bitter patience sweet fruit” %! “Bo Po So To” % ®4 H Feds foran 2
“Art is sweet happiness” %! “Ao lo So Ho” & €9 H Feag e S ¥
“Hoping is concealing bitter” =l “Hp Io Co Bo” eI ETCEACRIRSIG] g
“Patience is art of hoping” %l “Po Io Ao Fo Hp” % ®9 ¥ Fedsg foham S ©
9 991 § “Patience is happiness” I fod YR Feag fhan smam ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo

Options :

1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 5330727189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A man invests ¥ 1550 in two parts, one part at the rate of 8 % interest and another part at the rate
of 6%. If the total interest earned in one year is ¥ 106, find the amount invested at each rate of
interest, respectively.

(1) % 650 and T 900
(2) % 700 and ¥ 850
(3) % 750 and T 800
(4) % 800 and T 750
Options :

1.1

2.2

3.3

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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4.4

Question Number : 25 Question Id : 5330727189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T A T 1550 1 1 T H 791 SR €, Ul ST 8 % 1 S R AR g 9T H 6% H W W AfS
ue T H erfsta foram T e = T 106 ® O WS o W FA9: e 5 g afer 3 Fwifew

(1) % 650 3 T 900

(2) T 700 3T 850

(3) ¥ 750 3R T 800

(4) T 800 3R T 750
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 5330727190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“If one eats mushrooms after a long gap of time, one falls ill. I have been having some digestive
issues since morning today, therefore there must have been mushroom in that mixed vegetable
soup we had last night” which fallacy, if any, committed in the above argument ?

(1) Itisa valid argument

(2) Affirming the consequent

(3) Hasty Generalization

(4) Begging the question

Options :

1.1

2.2

3.3

4.4

Question Number : 26 Question Id : 5330727190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ofe 1 =afaq OH9 & UF o a0 F 91E HIET F1 Y9 Fal § 9§69 9 ¢ HiE F oA
Tt B e Heiel T o g 9 @ T, safau s ufs # faw e ffya afsei % gu i e @
BT | 39 g H, Afg 1S o, foRan T <9 i € 7

(1) TETH Y g ©

(2) Fd 9 fauE

(3)  fa=nia |mr=ieR

(4) ST 9

Options :
1.1
2.2
3.3
4.4
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Question Number : 27 Question Id : 5330727191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are squares” is given as true then which of the following statements
can be inferred to be false.

(A) All rectangles are squares

(B) Some rectangles are not squares

(C) Some squares are not rectangles

(D) No rectangles are squares

Choose the correct answer from the options given below :
(I) (B), (C) and (D) Only

(2) (D) Only

(3) (B) and (C) Only

) (A), (B), (©) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 27 Question Id : 5330727191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

af FYF-'Fo o9 a9 €, # I & ' ° foan w0 € @ frefafea § 9 59 s o ome F e A
ST feran S Sehan 8 2

(A) W|eft st o €

(B) F® oHd = Tl €

(C) F = 31a T &

(D) oI Sft Ta o 7 §

99 fou o fosredi O 9 W& I F F5H AU
(1) = (B), (C) ¥t (D)

(2) =4 (D)

(3) I (B) 3R (O)

4)  (A), (B), (C) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 5330727192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following propositions are contradictory ?
(A) All squares are rectangles

(B) No squares are rectangles

(C) Some squares are rectangles

(D) Some squares are not rectangles

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (A) and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 28 Question Id : 5330727192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefas & | S afasfear s €2
(A) | o 37 €

(B) HIE off I Iyad AL ¥ |

(C) FS o aaa g |

(D) FS I A Tal & |
= fou e fasredi © 9 WE I H 95 FIfAT
(1) e (C) &R (D)
(2) O (A) (D)
(3) eI (B) 3R (D)
(4) FE (A) 3R (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 5330727193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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From the following identify the propositions that are logically equivalent .
(A) Some books are novels

(B) Some books are not non-novels

(C) Some novels are not non-books

(D) Some novels are books

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (D) Only

(3) (A)and (C) Only

(4) (A), (B), (C) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 5330727193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea # 9 =7 wfasfad # Te=am Ffee s afds T 9 goaed € 2
(A) FS T STIH T

(B) F® Y& -39 TEl € |

(C) F9 3T=E - T2l |

(D) FS 3TH THF & |

= feu o faeredi § | W& T T2 FHET

(1) == (O) R (D)

(2) A (A) (D)

(3) A (A) 3R (C)

(4)  (A), (B), (O) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 5330727194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Somdutta who is never seen eating during the day time is constantly gaining weight. Therefore,
she must be eating during the night time”. As per classical Indian philosophy which instrument of
knowledge is used in the above statement ?

(1) Perception

(2) Analogy

(3)  Verbal authority

(4) Postulation

Options :
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1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 5330727194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o1 o Tug A el off WrE T e S T S o YR A W w1 | 39, 58 U 3 9ee
WA 3 T8l 2R 1" I RS 99 % ST99R SWiE &y § 39 F fg anm o uge e e g ?

(1) oy diy
(2) 39
(3) 9IeE 9HIO
(4) 9
Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 5330727195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a software that displays unwanted or sometimes irritating pop-up
advertisements which can appear on your computer or mobile phone ?

(1) Spyware

(2) Adware

(3) Worm

(4) Trojan Horse
Options :

1.1

2.2

3.3

4.4

Question Number : 31 Question Id : 5330727195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

01 H | 3 98 Gidgl © S Sfdifed stger w1 w4 a1l 99— o gefia s & S
TR gt e Hemse B T Yehe 8 HeRd © 7

(1) T
(2 TEEAW
@) 9

(4) ZreEEd
Options :

1.1

2.2

3.3

4.4
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Question Number : 32 Question Id : 5330727196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microsoft Access is an example of a(n)
(1) Operational resource toolkit system
(2) ERP system

(3) Database management system

(4) Knowledge management system

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 5330727196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HreshETRe vy e 8 § foRae seem 27
(1) JETeHeE HHHA Zeiche Wl

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 5330727197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

On the basis of the coverage area, identify the correct ascending order of the following four types
of computer networks A-D :

(A) WAN
(B) LAN
(C) MAN
(D) PAN

Choose the correct answer from the options given below :
(1) (D), (B), (C), (A)

(2) (B), (O, (A) (D)

(3) D) (©), (B), (A)

4) (A) (B), (D), ©

Options :

1.1

2.2

3.3
4.4
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Question Number : 33 Question Id : 5330727197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS & & YR W FH 42Tk o 14 T- THRI A-D F el TRE! W S Gedr Hired ;
(A) TG T (WAN)
(B) TAT T (LAN)
(C) THTTI (MAN)
(D) W TUA (PAN)
= fou o faded § F W& W FH =TI FIGC
(1) (D) (B), (O, (A)
2 (B), (©), (A), (D)
@) D) (©), (B), (A)
(4) (A), (B), (D), (O
Options :
1.1
2.2

3.3
4.4

Question Number : 34 Question Id : 5330727198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following devices are computer output devices only ?
(A) Scanner

(B) Plotter

(C) Light pen

(D) Projector

(E) Speaker

Choose the correct answer from the options given below :
(1) (A), (B), (D) and (E) Only

(2) (D) and (E) Only

(3)  (A), (B) and (C) Only

(4) (B), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 5330727198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e # & i gfaat Faa Feer 1 (sm=eye) g €2
(A) TR

(B) X

(C) @ W

(D) WSt

(E) @

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) &= (A), (B), (D) &R (E)

(2) = (D) &R (E)

(3) e (A), (B) 3R (C)

(4) = (B), (D) ¥R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 35 Question Id : 5330727199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(ICT Term) (Definition)
(A) VolP (I) A tool for real-time communication between two or more

people sending text messages to their devices

(B) Instant Messaging (IM) (I) A system of interlinked hypertext documents accessed via
the Internet

(C) VPN (IIf) A technology that allows you to talk with other people
using the internet

(D) WWW (IV) A network that protects data by encrypting network traffic

Choose the correct answer from the options given below :
(1) (A)-(1D, (B)-(I), (O)(1V), (D)-(III)

(2)  (A)-(IV), (B)-(1D), (C)-(1LL), (D)-(I)

(3) (A=), (B)-(I), (O-(I), (D)-(IV)

(4) (A)-(), (B)-(T), (O-(IV), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 35 Question Id : 5330727199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 Tet-11
(g i 2 ") (‘wfwraT )
(A) ot &0 e @ (VoIP) () 1ot il o are Haw 991 T < 71 Aferek safedi
=T arcaifires T9IR 7 ST
(B) Ok W YU (&ME wH) (IM) (1) FeE % wregw § st wrem Hhifed eemea gore
JoTTE!
(C) ot dt T (VPN) (Il) =& G S TI9eR 32012 o Wam § 319 w9
e A 1 AT Sl §
(D) &g =g g5g (WWW) (IV) € "o Sl eeeh A1 o hISIhv gHI <12l |
E2GI

= feu U forredi H @ W& 3T A = FHIWY
(1) (A)-1D, (B)-(0), (O-1V), (D)-(I1)
(2)  (A)AIV), (B)-(1I), (C)-(ILD), (D)-(T)
(3)  (A)-(), (B)-(D), (O)-(IL), (D)-(1V)
(4)  (A)-(), (B)-(D), (O-(IV), (D)-(IT)
Options :
1.1
2.2

3.3
4.4

Question Number : 36 Question Id : 5330727200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fDllDwi_ng are routes for exposure to pullutants m humans ?

(A) Inhalation

(B) Consumption

(C) Ingestion

(D) Dermal

(E) Digestion

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (A), (©) and (D) Only
(3) (B (D) and (E) Only
(4) (A), (O) and (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 36 Question Id : 5330727200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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THE B U F SUTEA F 0 fefafaa § g wm E 2

(A) S TIEA
(B) 39
(C) iaem
(D) wE
(E) Hr=d

9 fou o fashedi H | W& I FH FFH FIfAC
(1) %9 (A), (B) 3R (C)
(2) FEE (A), (C) 3R (D)
(3) #Ed (B), (D) iR (E)
(4) FFA (A), (C) ¥R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 5330727201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered as a prominent indoor air pollutant ?
(1) Mercury

(2) Radon

(3) Helium

(4) Argon

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 5330727201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes § | 58 ©F TE o1iafe 99 YU+ & a1 9% WHE1 ST € 2
() 9

2 A

(3) Efeam
(4) mH

Options :
1.1
2.2
3.3
4.4
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Question Number : 38 Question Id : 5330727202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Leachate is a :

(1) Green house gas

(2)  Air pollutant

(3) Liquid extract from landfill site
(4) Ozone depleting substance

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 5330727202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frenfea uemel (efee) 2w .
(1) 7 zRy

(2) @ 9gHh

(3)  yfFsEor =i § i a3
(4) SIS aor geref
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 5330727203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about tropospheric or ground level ozone ?
(A) It is called as good ozone

(B) Itis formed due to downward transfer of ozone from ozone layer
(C) Itis formed due to the action of sunlight on oxides of nitrogen
(D) Itisa green house gas

(E) Itis a key component of photochemical smog

Choose the correct answer from the options given below :

(1) (B), (©), (D) and (E) Only

(2) (A), (B) and (C) Only

(3) (©), (D) and (E) Only

(4) (A), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 39 Question Id : 5330727203 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

1 5 9 [ afvHeeg Sge YT S % G99 | Hel ¢ 7

(A) Y TH 3= S Fal Al @

(B) e el Wa B 3 1 A= ot IR sfaftg @ & wwor fafda S ®
(C) & E2roM & Sise T gEReET #1 fofan & R fAfifa &t &
(D) IE TF WA 258 7§

(E) I% YohTO-THTATTF (RRIhiHeFel) el o THE Ho2F ©

= fau o fawmedi #§ 9 W& I 999 FHifAC

(1) = (B), (C), (D) 3 (E)

(2) EE (A), (B) #R (C)

(3) %= (O), (D) ¥R (E)

(4) e (A), (D) 3T (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 5330727204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about International Solar Alliance (ISA) ?
(A) There are over 100 member countries in this alliance

(B) Its head quarter is in Geneva, Switzerland

(C) Most of its member countries lie between equator and tropic of cancer
(D) Primary objective of alliance is to efficiently use solar energy

(E) It is a collaborative initiative of India and France

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2)  (A), (D) and (E) Only

(3) (B), (O) and (E) Only

4) (C©), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 5330727204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SRR 6 Teas (96 w9 T) & an § 74 § § 1 99 22
(A) =@ ER H 100 ¥ s g Tw it €

(B) U gEATE e, fafeseiz # &

(C) 3HF ATCRRIY Wew e T 37 ek v & 0o feom €1
(D) 39 TEEYA 1 WTHF 3599 G 3N =1 &1 ST FE1 B
(E) % 9RA 31N W% =i TF Gearl Jed 2|

= fou o fasedi §f 9 W& I 1 T HITAC

(1) e (A), (B) 3T (D)

(2) % (A), (D) ¥R (E)

(3) 9 (B), (C) IR (E)

(4) = (C), (D) 3R (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 5330727205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kothari Commission (1963-64) suggested spending of national income on education.
(1) 3 percent
(2) 6 percent
(3) 7 percent
(4) 9 percent
Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 5330727205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS AN (1963-64) A e W U9 &4 & T & =49 1 Gara o o
(1) 3 gfaem

(2) 6 gfayd

(3) 7 ufayd

(4) 9 gfaem

Options :

1.1

2.2

3.3

4.4
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Question Number : 42 Question Id : 5330727206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The University Education Commission (1948-49) suggested a bachelor degree of :
(1) Fiveyears
(2) Four years
(3) Three years
(4) Two years
Options :
1.1
2.2

3.3
4.4

Question Number : 42 Question Id : 5330727206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fovafaemera f1am s (1948-49) 9 fohe aui @ & ©aw fei % fou ggma fean on?
(1) =

(2) =Ry

(3) < o

(4) Qo

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 5330727207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following were measures initiated by Lord Auckland ?
(A) Guaranteed the maintenance of oriental colleges

(B) Publication of useful works for instruction in oriental languages
(C) Selection of certain places for establishing central colleges for highest instruction
(D) Closure of college libraries

(E) Abolition of student scholarships

Choose the correct answer from the options given below :

(1) (A), (B), (O) Only

(2 (B), (O (D) Only

(3) (©), (D), (E) Only

(4)  (A), (D), (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 5330727207 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

e Alkeis 7 FafafEs § FHE 3u" gy fFu 972

(A) wr=g welfaarerdl (STftdeel FHIers) o STEeror i el YSH i
(B) WA wrisd H SHe % ford SwEnh FHiadl @1 g H

(C) =IaH 3T & foq Fwsig werferererdl i L= ¥ Hiqud T &1 999
(D) WeIfeRIea % YEashlcrdl ol g el

(E) foenfel =t wmafai =1 waifa

= feu mu fawredi § 9 WE I F T2 FfSU

(1) e (A), (B), (C)

(2) e (B), (C), (D)

(3) e (C), (D), (E)

(4) &= (A), (D), (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 5330727208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dent'Lfy the correct chronological order of the establishment of the following colleges :
(A) Fort William College, Calcutta

(B) Sanskrit College, Poona

(C) Central Hindu College, Benares

(D)  Anglo-Vedic College, Lahore

(E) Sanskrit College, Benares

Choose the correct answer from the options given below :
1) (A), (B), ©, E), D)

@ (), (D) (B), (B), (A)

@) (D), (B) (A), (B) (©)
(4) (B, (A), ), @), ©
Options :

1.1

2.2

3.3
4.4

Question Number : 44 Question Id : 5330727208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa Terfaeredl 1 T o el FHIcTshiHe HH i Tgar il ;
(A) e fafezm e, o
(B) H&Rd Helfa=eT, I
Q) w2 foxg weifamned, F Iy
(D) Ure-afes Fiers, TeR
(E) HERd HelfE=eE, sRE
99 fou Tu fasredi H 9 W& 39 FFH FIfAC
(1) (A), (B), (O, (B). (D)
(2)  (©. (D), (B), (E), (A)
(3) (D), (E), (A), (B), (O)
4) (E) (A) (B), (D), (O)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 5330727209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Commission) (Recommendation)
(A) Hunter Commission ()  University technological departments providing for
research and teaching
(B) Sadler Commission (I)  Withdrawal of government support to collegiate education
(C) Hartog Committee (IT) Development of mofussil colleges into future university
cenlres
(D) Sargent plan (IV) Enrichment of college libraries and concentration on

Honours courses in select centres
Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(ID), (C)(I), (D)-(IV)
(2)  (A)-(ID, (B)-(ID), (O)-(V), (D)-(0)
(3)  (A)-(LID), (B)-(IV), (C)-(L), (D)-(II)
(4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 5330727209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 37/122



8/30/24, 11:26 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Teit-1 9 -1 =1 fies i
Teli-1 TElt-11
( 2rErT ) (3TeTET)
(A) B AT () 9y i forem yere =2 & gey ¥ favafaares & drifmsm fagm
(B) USSR &@EM () Welfaamed fen 9 Sl §Hefd g2
(C) =R gfufg (IIl) HFeqe Helfaared & dwel foavafaeme™ =i ¥ fawfaa e
(D) W= GreT (IV) werfaene™ & qEakmedl & Hadq 3R gfer #=i § 176 T2mra
et
= feu o fosredi | W@ I FH =T HIGC
(1) (AHD), (By-(II), (O)-(II), (D)-(IV)
(2) (A1, (B)-(ILD), (C)-(V), (D)-(I)
(3)  (A)-(Im), (B)-(IV), (O)-(D), (D)-(I)
(4)  (AHLV), (B)(D), (C)-(IN), (D)~(IM)
Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072286
Question Shuffling Allowed : No

Question Id : 5330727210 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follow :

Holidays are often a time of culinary indulgence even for people who are usually careful about
diets for the rest of the year.

But there is more to holiday eating than avoiding excess calories. What we eat affects the health of
the entire body, including the immune system. Since the most of the body’s immune system is concentrated
in the gut and the trillions of healthy bacteria living there called the microbiome - what we eat has a
direct impact on how the immune system functions. “A lot of people don’t think about the effects of
what they eat on immunity. But the science says it's crucial”, says Heather Moday, MD, Founder of the
Mnday Centre for Functional and Intergralive Medicine in Norfolk, Virginja, and Phjladelphia. And it's
especially important at this time of year, Since the winter holidays occur around the time when illnesses
like colds, flu and other respiratory illnesses peak.

While an occasional indulgence probably won't cause lasting damage, throwing caution to the
wind till New year’s Day is certainly unhealthy and might make you more susceptible to getting sick.
“Even just a month of really just blowing it and not caring about nutrition can impact the microbiome”.
says Kristin Kirkpatrick, a registered dietitian at Cleveland Clinic’s department of wellness and preventive
medicine.

Sub questions

Question Number : 46 Question Id : 5330727211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Important key message the above text conveys about holiday eating can be stated as follows :
(1) Itis important to completely avoid indulgence

(2) Occasional indulgence is unlikely to cause lasting damage

(3) Diet has no significant impact on the immune system

(4) Holidays are an ideal time to experiment with extreme diets

Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 5330727212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct statement that describes the primary focus of Heather Moday’s statement in
the text :

(1) The benefits of a balanced diet

(2) The relationship between diet and immune system
(3) The importance of regular exercise

(4) The effects of meditation on health

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 5330727213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are effects of diet on the body’s immune system as discussed in the text ?
(1) Increased cholesterol levels

(2) Direct impact on immune system functions

(3) Improved skin health

(4) Loss of appetite

Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 5330727214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microbiomes are important as :

(1) They create lots of sugar in the body

(2) They are healthy bacteria living in the body

(3) They may raise blood pressure and heart disease risk

(4) They increase the tendency for processed food

Options :

1.1

2.2
3.3
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4.4

Question Number : 50 Question Id : 5330727215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is incorrect in the context of the given text ?

(1) There is a lot less harm done if four days out of the week you are eating pretty well

(2) To keep the immunity strong, one does not have to stop celebrating but needs to celebrate a
little smarter

(3) What we eat has a direct impact on the immune system

(4)  Occasional food indulgence will cause lasting damage

Options :
1.1
2.2
3.3
4.4

Question Id : 5330727210 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

ferw U TEITYT St UgeRT WYl o ST EITa

gfgat yra: 37 mt % fow off @ # dferad &1 w2 €, S e ad § o7 SeR % 9 H |
T W 2 |

cifer, stfafter Fer & 9o ¥ 5= % 999 Pl & fo Trae & 9§ o) of 91 €1 89 S @ w5
¥ Iue gfeierss yomell afed Gl IR % Tared W uYE Tedl €1 iifE I F sifernie ufeterr yomedt ot
T Hopf=d € 3R e foremm owal & T o AiEshiaram e T SEiean (SiE]) -gn 4 W ¥, SHH Toda
T9TE Teal & foF wicremss gonell Y #1d Fdt ¢ | aga-a @R 3 W 9 ioiE 1 g2 9l 99 o 9
T & Hrd € afe fagm Fea ® T 72 veoqul €1 9% WdwE, gt R frersfern § de 8= wR
hRM g Farifeq Afefam % yay fewe vd Srays T HIE F FeN €| SR g ad & 39 g9g ¥ faum 'y
H Heayu € FifE 9l #1 wfcal oy 36 99 2l €, 59 W, W &R YagT SR 9H W e € |

iR AT-hal WA | Sfera 31 Syad: T afa 98 geanem, dfwd Ta-a4 % G 7 gy 1@
e T € srarers € S SR S § Ufa R T €1 Feligeie gl & 9oy ue frafea
Hfefad fewdiez ¥ ysiigra smer fasvs foreia fardhfes o1 Fem & ' arce | W U W | aT9Eme e siit
o 2 R H e T 39 I WEREEN R 99E U gk g1

Sub questions

Question Number : 46 Question Id : 5330727211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IUF 9IS 5N BEl & e &% @AY H Hieraar % 9] H Siaely T Heequl 1 G Fi frefaiead % '
¥ srfiyeram foran < Te €

(1) @AY o e | qoia: a9 Hewgd

2)  FE-hel WA H Sfereal gr et aifa sEafe 2

(3) TER 1 YIOET JOIEl T 1S Hield GUE el g 2 |

(4) fedi & feT sfa—am e & 9 99 37 % Th 59 909 © |

Options :

—

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 40/122



8/30/24, 11:26 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 5330727212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG TE FHYF 1 T Fo0, IS H BT 1S F FYA W NAfTF B9 G oH Figa =4 F 9N H T F=a

(1) Hafera er & o

(2) SR AR W& Yomed o e Gay
(3) frafma =mam = 9

(4) =M % @ |/ Y9E

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 5330727213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § § wOr & gfoweon yomelt | 21 & fohg gura =i == #T T § 2
(1) 3 gY FleRIe &R

) wfaeeror guret < el W geds a9

(3) T F WA H guUR

) @ A T

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 5330727214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) 3 R ¥ sreaferr 960 30 F4d B

(2) IR H oA @ s (Siem) €

(3) A FaEm iR 7 e I &% sifew #§ gfg g ¥
(4) 3 TEERT @ UeHel % Hed o1 99t 9gid & |

Options :
1.1
2.2
3.3
4.4

Question Number : S0 Question Id : 5330727215 Question Type : MCQ Option Shuffling : No
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g28.digialm.com/CAE/viewHtmIPDFAction.action

frfefaa & & F Fue 3uge ue & Hef § ol A T 7

(1) Afg a9 e % =R 7 gaia "eH s € 9 98 &0 afa ad €

(2) wfaer s Ty 990 WA F fon Sfaa 9 Sceayds aiF | =eTE A€ e =fen, afes g
At Yerafeerd aF 8§ SeHaqul WATH A =1fey |

(3) B9 S WHUE FA €, SHET HRE YOI T oI U TS ©

(4) TSI WA H G T sifa ggam

Options :
1.1
2.2
3.3
4.4

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

53307297
2

Online
Mandatory
92

92

200

0

1
533072287
Yes

Question Number : 51 Question Id : 5330727216 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

“faferen wire Tire @@ agfa, Heh Sfa e’ - S fu

(1) 9L I

(2) WG o
(3) SR #F
(4) ==IEER
Options :

1.1

2.2

3.3
4.4

Question Number : 51 Question Id : 5330727216 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

42/122



8/30/24, 11:26 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

“faferen wre Tire o/ arafa, $eh Sfa e’ - S fae

(1) TH9E R
(2) WIEHER
(3) HIaEH HAF
(4) =1 3R
Options :

1.1

2.2

3.3

4.4

Question Number : 52 Question Id : 5330727217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“ofy T for 92 Ty 9SO orel e sdtafa Henfa B #afA - Sa o v g efe -
(1) AT
(2) TmafawEry

o

(3) e

(4) UGUEIAEH
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 5330727217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“offg T oA a2 g w'SEe @' aTel dRkfe sdratd Henta Siue eat '’ - Sea 39 Sgd o -
(1) AT

(2) TmEfemR
(3) e
4) ISuegdEd
Options :

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 5330727218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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"TEF TE T T ? TR 9Od @' ' Fe

I 9 BH WIFW 95 F1 99 1 TR |
26 T 3 T dF F Fifew’ g2l B
a1 &ll, 1= §E L. - 9 39 3gd A
(1) =ife feTe ammd

(2) THESHEH

(3) Hiere MY

(4) RefEE

Options :

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 5330727218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"TEFRI TE T TG ? TR 9Od @' & Fe

I 9 eH WIFW 95 F1 99 1 TR |
2% B 9 WE 9 % Wifed’ g2l
a1 ol, AT WG L - S 9 3ga &
(1) =ife fegw ammd

(2) THESHEH

(3) Hie TeE

(4) ERefEard

Options :

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 5330727219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ferre—eere Tt By -
(1) =
(2) geom
(3) B
(4) R
Options :
1.1
2.2
3.3
4.4
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Question Number : 54 Question Id : 5330727219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

farre —re Tt =iy -

(1) T
(2) geom
(3) @
(4) v
Options :

1.1

2.2

3.3

4.4

Question Number : 55 Question Id : 5330727220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ferre o1 gl S e o1
(1) gaH

2) WM

(3) W

(4) TswceH

Options :

1.1

2.2

3.3

4.4

Question Number : 55 Question Id : 5330727220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

farre. a1 grorae e s afo
(1) gaIH
(2) =
(3)  WIH
(4) A
Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 5330727221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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farmafass ifom d&wa @ 99 -
(1)  TETeERTEEt
(2) g Tl
(3)
(4)

1

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 5330727221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

faremafass sifon depra @ &fe
(1)  TIETEETeE

(2) gife qEfiof

(3)

(4)

1

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 5330727222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘T F 9T TR
1) uF
@ 3
@) @
4) =R

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 5330727222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘T F 9T TR
(1) Tk
(2) T
(3) @M
(4) =
Options :
1.1
2.2

3.3
4.4

Question Number : 58 Question Id : 5330727223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FHONE MG Hery & Tafas am a1fe

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 5330727223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FUE YT 9o s Fafas W 237
(1) efHeed
(2) “fHeEeE
(3) ArEd
(4) WHEeE
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 5330727224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TuTE STFa T fafemes YymTs ImeA-9r <
(1) wernfa foamfas
(2) EUETR FEE
(3) WA T S
(4) WA RN SETh

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 5330727224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qure s1eRer fopert ffuemr YurTes ImEA-9r 84 -
(1) weenRfa fommfas

() TR TERE

(3) WH. T SEH

(4) T HEY 3ETE

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 5330727225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘gftar's =fET By -
(1)  Hrarrs =

(2) g 'gE’

(3) TR g Ay
(4)  wmA
Options :

1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 5330727225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘wftan's i By -
(1) iR =

(2) =g’

(3) iR g Ay
(4)  fmET T

Options :

1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 5330727226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"1 g g TSI A HHT T
1 %8 foFg 7 dreE - 98 fus -
(1) ¥
(2) Tl
(3) FTEH
(4) =EH

Options :

1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 5330727226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"1 g g TSN e HH! 1
i g fohg 7 HReE - 98 fore -
(1) He
(2) <
(3) wIEH
(4) =EFA

Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 5330727227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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" SrcTeRT T 'S iRt W ST Hedish U BY -

(1)  THA =
(2) SHTAIY =
(3) YR foe
(4) IR ISk

Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 5330727227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" SeTeRT AT 'k fHeR W HHIGEATHSE Hodisd HUA B -

(1) TAEFA
(2) STHTAY
(3) YR faT
(4) W qEH

Options :

1.1

2.2

3.3

4.4

Question Number : 63 Question Id : 5330727228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

St @ty e @i gue oife 7 wda oife - ufe urers TR veyE afe -
(1) ST

(2) Tafoeresq
(3) THSENTEZEHH
(4) = AESH
Options :

1.1

2.2

3.3

4.4

Question Number : 63 Question Id : 5330727228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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St |ty goa #ife gue oiife # wdq oife - ufe s TR gevE afs -
(1)  GrHadgTs=H

(2) TafgeTEFH
(3) AHEENREEEHH
(4) HrrE AESH
Options :

1.1

2.2

3.3

4.4

Question Number : 64 Question Id : 5330727229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

it Aok STeRIaHT JUERR 2022-23, W U -
(1) SR ==

()

(3) IpIfcreR HI
(4)

Options :

1.1

2.2

3.3
4.4

Question Number : 64 Question Id : 5330727229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 STRIGHT TR 2022-23, U FHTa -
(1) SUTfRT @

(2)

(3) IpifciR FHi
(4)

Options :

1.1

2.2

3.3
4.4

Question Number : 65 Question Id : 5330727230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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W fae=" § "eyy™ W A11S
(1)

2 dRr

(3) =¥

(4) <RET

Options :

1.1

2.2

3.3

4.4

Question Number : 65 Question Id : 5330727230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W fag=a ¥ gayy™ ™ e
(1)

2) @R

(3) =4

(4) <RET
Options :

1.1

2.2

3.3
4.4

Question Number : 66 Question Id : 5330727231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jed foroqar & faferers amoe ==t «1fe -

(1) ®sETR

(2) @NETE
(3) WRETRE
(4) dEETR
Options :

1.1

2.2

3.3

4.4

Question Number : 66 Question Id : 5330727231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Feq famq 7 faferemes e == @ -
(1) =ETR
(2) @RETR
(3) WRETR
(4) dmE e

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 5330727232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘i wrefY St afaror fefen g shiferent g .
Ufg IS A7 FUA By -

(1) @r=A
(2) ==
(3) ©EEH
(4) femmafa
Options :

1.1

2.2

3.3

4.4

Question Number : 67 Question Id : 5330727232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘T wrefY St gfaror fef g it g .
UfE 9es SATaE U BiY -

(1) @red
(2) ===
(3) reRd
(4) Termmafa
Options :

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 5330727233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RCERCR SR LR E R
qIfy-Hartesr 31 - 3 e foe -
1) ‘gE'w
(2) ‘HE-EEE
(3) ‘vwIereR’ &
(4) ‘SEA-HiEH" %

Options :

1.1

2.2

3.3
4.4

Question Number : 68 Question Id : 5330727233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Ig1 19 W 99d g9-99 H
qrfy-Hartesr 31 - 3 e foe -
(1) ‘gwH

(2 ‘w3 w

(3) ‘e’ &

(4) ‘SEA-HiEH" %

Options :

1.1

2.2

3.3
4.4

Question Number : 69 Question Id : 5330727234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Tt vreeR o @19 Afe 9T STRrE |
qTo A B feresi-Svi-ael’ - e wfgar s -
(1) Yo 'ged’

(2) HH yHE fE5E

(3) HIfd AR fag

(4) HiarE

Options :

1.1

2.2

3.3

4.4

Question Number : 69 Question Id : 5330727234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘AT vreaeR ga A AfE S AR |
T T B faeei-2e-wEl - 9o wmihd v -
(1) gEw@'ge’

(2) oARH 9HE fHE

(3) whifd A A4

(4) HiarE

Options :

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 5330727235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A e feaem W Y-ug e -
(1) ‘"=A'%H

(2) ‘fE'=w

(3) ‘efvErR’ ®

(4) ‘T’ % Hagw
Options :

1.1

2.2

3.3
4.4

Question Number : 70 Question Id : 5330727235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A e oo W U-ug e -
(1 '"A'H

2 ‘=

(3) ‘HfER’ %

(4) ‘T’ = Hemew
Options :

1.1

2.2

3.3
4.4

Question Number : 71 Question Id : 5330727236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tifeed STFRH ¥ T WeehT fork
(1) =

(2) W=l

(3) U@

(4) FFEERA

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 5330727236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tifecd FRHT | TR HeheA foe

(1) ==

(2) Ve

(3) UFEEE-9E

(4) sTEERa

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 5330727237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“aa |ftem e Sied, 998 1 =@’ - ug fore

(1) =<1 9meh
(2) Termafass
(3) SHMAfaH
(4) Tifer= S
Options :

1.1

2.2

3.3

4.4

Question Number : 72 Question Id : 5330727237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“ g wftem e siteq, a98 o |’ - 9 e

(1) =F=1HmeR
(2) fermafass
(3) IHTIfaER
(4) Tifer SR
Options :

1.1

2.2

3.3

4.4

Question Number : 73 Question Id : 5330727238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Al 19y 'F Ha < e @1
(1) ‘e sy’ &

(2) ‘W saye’ F

(3) ‘U sy’ &

(4) ‘= eIy’ F Afe
Options :

1.1

2.2

3.3
4.4

Question Number : 73 Question Id : 5330727238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘%m%ﬁw&aﬂﬁaﬁ:
(1) ‘oferore smviw’ F

(2) ‘W suye F

(3) ‘WA emaye’ %

(4) ‘= ey’ F Afe
Options :

1.1

2.2

3.3
4.4

Question Number : 74 Question Id : 5330727239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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"I wE T - gk W g 3RS
(1) sy’ §

(2 ‘faam’ g

() um werH

4) ‘FEwm'd

Options :

1.1

2.2

3.3
4.4

Question Number : 74 Question Id : 5330727239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR T i - gesk e fog iee
(1) ‘s’ |

(2 ‘faam' g

() ‘T e

(@) ‘FEaw’H

Options :

1.1

2.2

3.3
4.4

Question Number : 75 Question Id : 5330727240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Taferen W wefer 99 ®eR’ & & wUA B9 -
(1) 3ww fag

(2) SfeF= Sg

(3) ﬂ“ﬁ’[?'?{m

(4) TETETH

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 5330727240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“faferen # yefer oe iER’ % A w8y -
(1) =9 fag

(2) ST S

(3) U= I

=

(4) TEAITE

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 5330727241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fargemsR wifecs-|THT9-2023 9 sHaa(d 33 :
(1) g9 o' fodR’

(2) WeE T TH

(3) ek

(4) YN =F IR

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 5330727241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fergems® Oifeca-E9-2023 9T e 33
(1) g @ faER

(2) HER AH IH

(3) g o

(4) GUN TF IR

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 5330727242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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"I B T TR 9 T fasem fom % opa anfad @' wifs swesE e 9t g argr sEifa o
Hregersr =1 91 - 39 &9 3G sife

(1) ‘g

(2) ‘e’ |

(3) ‘fewrfe oma s OeR’ F

@) ‘A

Options :

1.1

2.2

3.3
4.4

Question Number : 77 Question Id : 5330727242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
"I B T TR 9 T fasem fom % opa anfad @' wifs sesE deen! 9t gu argr sEifa o
Higersk =14 W' - 39 79 37gq 1w
(1) ‘g
(2) ‘T |
(3) ‘fewrfe oma s OeR’
(4 ‘g
Options :
1.1
2.2

3.3
4.4

Question Number : 78 Question Id : 5330727243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hifeed HAepTaHTR ol JERR-2023 U HFa
(1) AR o

(2) SFTE YETE Hed

(3) R

(4) 3%F AnrEy o A’

Options :

1.1

2.2

3.3
4.4

Question Number : 78 Question Id : 5330727243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hifecd FRGHIER ol GIFH-2023 W FIar
(1) o 2

(2) SFIEI 9EE Hed

(3) SHAY

(4) 3%F TwEY fog ‘e’

2

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 5330727244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foremr g = ' fafed ' = 31

(1) HEw
2) eHwh Sited
(3) WHeRd T
(4) YEI T
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 5330727244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ty =0 'fafea's = o1 .
(1) HER

(2) IeHRE Sed

(3) WeRd HeER

(4) Yed ®H

Options :

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 5330727245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hifecd STRICHIE ol JUERR-2024 9T a4 Y
(1) SFHE o0
) ST AT el
(3) FHEG I UIeH
) AR S
Options :
1.1
2.2

3.3
4.4

Question Number : 80 Question Id : 5330727245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hifeed sTepTaHie we JEEFR-2024 9T o+ oY .
(1) 3 =

(2) A& A< Tl

(3) eI IR eH

(4)

Options :

1.1

2.2

3.3
4.4

Question Number : 81 Question Id : 5330727246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ao A famrafas o9 s
(1) vafde

(2) <afde

(3) dnrfye

(4) Hifdfge

Options :

1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 5330727246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ao grEmy faematas 91 o
(1) warfge

(2) <afds

(3) dnrfye

(4) eHIfdfEE

Options :

1.1

2.2

3.3

4.4

Question Number : 82 Question Id : 5330727247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UHaReE G ' UEHEE-IRE ' % ge wT I BES
) TS
(2) FomatH
) aem T g
) o E g
Options :

1.1

2.2

3.3
4.4

Question Number : 82 Question Id : 5330727247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UHARE T ' UFEE- IR % e FeT IR BES
) T
) TEm g
(3) SA=m iy
LR k]
Options :

1.1

2.2

3.3
4.4

Question Number : 83 Question Id : 5330727248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Gepack afesh 'H se Al ¥ foe
(1) @Rfe

(@) e

(3) wefaan

(4) =gEfT

Options :

1.1

2.2

3.3

4.4

Question Number : 83 Question Id : 5330727248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gepash ‘ayfes 'y se dfuel w9 fue
(1) @Rfe

2) wERE

(3) @efer

(4) wEET

Options :

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 5330727249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" oifecae YRR offe '’ - Sfaa fues .
(1) THEAR ARTH

(2) e AR fiew

(3) THEE TR

(4) TS fAgw

Options :

1.1

2.2

3.3
4.4

Question Number : 84 Question Id : 5330727249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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" mfecae TR otk '’ - e o

(1) THEAR IEh
(2) we® TR e
(3) THFI 3R

(4) S gE

Options :
1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 85 Question Id : 5330727250 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

" SerEEeE grey o g fawad ey -
(1) TE< = o’

(2) A YRS

(3) wHeT=S = feayfa

(4) arE= o

Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 5330727250 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

" ST gy o g faad ey -
(1) A== o

(2) A WRES

(3) =HHAH= 3 eyl

(4) arrE< feEm

Options :

1.1

2.2

3.3

4.4

Question Number : 86 Question Id : 5330727251 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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" et arer 2R - e e wreres fad sife -
(1) S9reh A
(2) TR AEEE
(3) STEME AREER
(4) TofuETF AehE

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 5330727251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" et A 2R - i e s T sife -
(1) etk AHE
(2) STIeTR TS
(3) SATER AREEER
(4) TafoETF Aess

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 5330727252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

M FFEAAR § Afqasa & Fed g 3o -
(1) ==

(2) vErE

(3) w@EfFFER

(4) HAHR

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 5330727252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ITEMF AR H AT F e Seg A -

(1) &
(2) v
(3) @R
(4) TAHR
Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 5330727253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"orefor s1ER g2 o sifd sife faq w9’ -

ufen sTeFr arfe -
(1) T
(2) yifawm
(3) 3caat
(4) ®IH
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 5330727253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el STER 2 o SAfd e fo w9 -

ufed s Afe -
(1) favrEm
(2) yifaaH
(3) e
(4) FTH
Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 5330727254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT T e FAH A S -
(1) farerfers

(2) Gwmfaay®

() TWMF

(4) TifaE

Options :

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 5330727254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfYTa T T TS A B -
(1) fauefers F

(2) Hmfd Y ®

() TWE

(4) TifaE

Options :

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 5330727255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= WA T G ARATENE B9 H A=A Seoid e 3w -
(1) s

(2) o A=EEE

(3) =R Ar=rEeE

(4) HIE AEEE

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 5330727255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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= WA T G ARATENE T H 2AEEF Sooid Fua 3D -
(1) 3§ =S

(2) dF sAEEE

(3) =R SATaTEeE

(4) I AEEE

Options :

1.1

2.2

3.3
4.4

Question Number : 91 Question Id : 5330727256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WY o TR i Hel % &S

(1) TATTEeArN, SREH, TRafas, R, 7
(2) TReEfEsT, SATESATART, W, BHEFRY, STREM
(3) A, HHTHRHI, SATTSSATEN, SEEH, TREfas
(4)  STEM, TReEfers, WieT, ArTEeArarT, HAmERITd

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 5330727256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRTYT S S9N i Hel % &1

(1) SAFIEsamEn, STEH, TRafasd, JHeRdldl, 7
(2) TRefersT, SaITEeATEnT, Hidl, |HERYIG], SR
(3) W, HETHRUT, ARSI, SR, TREfas
(4)  STEM, TrefersTa, Hel, SarTeeATanT, ArdeRgTdr

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 5330727257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 69/122



8/30/24, 11:26 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

S SR THARNE Hal STRH @S ;

(1) Y WS Ty, AR, S 3, SR o, o 7@
(2) G, SIS B, HIAH o, S 92 9 A
(3) ETeTRTE, AR 9, aEY 3, S TeE S aaEe o
(4) Y A, AR, T, A @, S 9o ey

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 5330727257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHaYE STER TR Fel STH S ;

(1) S 9IS T, Area, SeiY 3, SR 3, a5
(2) IS, aSLIY B, A o, S e a9 GaEe o
(3) AT, SR o, Sy 9@, <A e a9y dEEe o
(4) =™ N, eRE, T A, Hakm o, A 9eE w9y
Options :

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 5330727258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST SR TR TEARERE Hel o7 afe

(1) W& A0 W, T 2, T 3, Af< 26, dediafa foe
(2) el o, IHeT o, T o, At e, He AR
(3) Tmea T, TeEmfa fog, e o, A <5, wees AR U
(4) T o, Serafa foe, A S, THed o, wews AR U

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 5330727258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SHEYE SR T EARRE Hal 3TPFH AfS ¢
(1) &= I TH, THSF 30, T 30, i< 3ol dsfiafa foe
(2) weafa foe, wwea g, e, At S, wews AR e
(3) TmeE =, st foE, Ty, At gd, se TRET Im
(4) T T, SesTara fHR, A=Al <E, THeE o, wes TRE U

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5330727259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ERTTEYE HATHR W HiYel Aedhd a7y e -

(1) Tfers Tegam, ffeen Jew, amed g3s, =JiHE a8
(2) Tafyen Fes, =He dgg, Aot Y&aar, SrHad T+
(3) Gifast geraM, =iHE g, Imad qAe, e Tes
(4)  GrHerdl gAst, Arfest geger, fafen Tew =i aeg
Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 5330727259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR SATER TR Hieed Aeshe Tel o7y a1fe -

(1) Grfast gegam, fafuen e, gmad gae, JHE agg
2) Tofyen e, =i-iF ergs, Afes Geam, Qe g
(3) Gifast TogaH, =iHiE agg, Imad e, e Tes
(4)  GrHedl gst, Gifest gear, fafaen Tes iHE deg

Options :
1.1
2.2
3.3
4.4

—

Question Number : 95 Question Id : 5330727260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefaiaa ST ThRM U STUR W Tl 3T96H 37O
(1) @i a7 =S, 39 %, IR, Safeswe, §-7o
(2) TY %, 9N, Wil 3 TS, g9, e
(3) T, 4R, il 31 A, sufgwmen, gy wa
(4) U, sTfesRen, @ia o forg, gy %, -

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5330727260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa ST=mas geRM adfe SR W HE T9H oo .
(1) @i o1 =S, g4 S, 9w, enfeawe, -
(2) T Fed, 9N, Wi 31 fae, g9, snfeeren
(3) T, R, @i &1 fas, snfeken, gy v
(4) W, enfearen, @ian o0 98, 34 Fd, g1

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 5330727261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST SEN R FARRF Hel STTRA A1

(1) wSTieReIR =i\’ SU=19 o ' =’ UsTehye, "rES A, 99 AR =Sied
(2) =A™ I S, SRS Al AT TSR ee, A R, 99T FER Sl
(3) =Y T S wSiteRei ol wivgRr "EEe g, Teehe, 99 FER S
(4) WU FHHR HH, THFAC, IS A M, " (14, Seiha g
Options :

1.1

2.2

3.3
4.4

Question Number : 96 Question Id : 5330727261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S SR T FAHRNF Fal AR 7

(1) SSTReIR =i AIOEr SU=1e 31 =) USiehie, AT (4, 99 FER SE
(2) U= W, ISR aHl  wiTIRr st He, Wi W, 99E FAER EEd
(3) =Y o e wrsiteRie ot wivTTEr " g, Tstehee, 99 AR S
(4) 9 FHR HE, TSRS, U= 3 M, /S g, FeRe gl

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 5330727262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfiaa e SFETE SR W ST S

(1)  Hrare =, ey g A, weay g e, sfmne an
(2) e g, Sy fag A, ey fag e, diawm e
(3) iR g, Sy fag A, smme o, sy fag e
(4)  Grarm =, Ty g e, dey g At sy o

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 5330727262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefad Ffa® ST SHaR T SR 31 -

(1)  dtarrs g, ey fag a9, sy g sm, sy o
(2) iy 3, Sy fag A, ey fag e, diawm e
(3)  ramr g, Sy fag A, ofmee o, sy fag e
(4) G g, FEae R e, Sy g st sime e

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330727263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RIS T SATHR T T Tal ohH 3110 -

(1) T, foems oo, Aferef e, sees: Sgva off fasm
(2) HirE v, Tagg: 39 ol fomm: Toere ofves], stered

(3) Toums ohas, Aferelt s wre, stees: Seva 3 famm, sreTea
(4) ST, Toems oo, sTeRs: Sgwd ol o, Afeet s vre

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330727263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TERTSTH I STHR W THA6 el & AfS -

(1)  arerearE, foems e, ffeeft wraems, ees: 3gva o fawm
() Tl oo, steeg: Seve i fompra: fuwmrs ofaw, st

(3) Toums ohas, Aferelt s wre, steRs: SevE S famm, srereaE
(4) =TT, foema T, sTaes: S oft fawm, Aferedt wrar s

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5330727264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S STER STci=eheh Hel AThH 30

(1) Sweier e, Sur e, Hied vRgs, Foras g wmo’, < o '’
(2) “EuR fog, Imvies fog, Hed yRgr, Feres fag T, e o
(3) @ foe, dr g, JuviE fuw, woes g wm, me o
(4) BT wRgTS, U o, T fHe, Fores Mg e, mees
Options :

1.1

2.2

3.3
4.4

Question Number : 99 Question Id : 5330727264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S SHR ATCIaFE Fel SR 311
(1) wwvieRt foe, sEYrl fHe, Hied vrgrs, Bores g o, we< 7 ' mor’
(2) “EyR foe, YnvE foe, ded wrErs, werss g o, e gt
(3) EYR fog, Tra g, Thvies o', eres g, e o e
(4) HrEd vRgTS, SEE e, Invis e, Foes Mg w, e e o

Options :

1.1

2.2

3.3
4.4

Question Number : 100 Question Id : 5330727265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefeiaa Swrne 9& w0 afe .

(1) BfSeEr, AHEHLI, Saek, HOes, THEE
2)  HUEY, BfSER, TYHH, FHH, Sk
(3) THiYM, Sk, Sfoer, wlEd, AHHT
(4) e, BfSER, TUTHE, oY, STE

Options :
1.1
2.2
3.3
4.4

—

Question Number : 100 Question Id : 5330727265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa dwerres gd #n ofs .

(1) BfSer, T, STk, Fofas, T
(2) U, BfSER, TUTHHE, FHE, STas
(3) TYiEE, STk, Bfger, A, AHE
(4) e, SRR, THIMME, FEH, STah

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 5330727266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SR ATHR (AR Fel ST 210
(1) Tommafa, ererer, s 10, Fdl, THE< 1]
(2) TS 10, Hisn 1, fermrafa, e, eees
(3) I, Toemifa, eeem, A= 10, st 1]
(4) orererd, fermafa, e, HiEn ), T 1

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 5330727266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e FATHR THARRE Hel ShA Al :

(1) To=mfa, T, s O, Fed, A=< 1
(2) TR T, A X, fermafd, e, deRe
(3) =, fommafy, enerm, T T, e 1)
(4) e, faemafa, e, T 1), TEe O

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 5330727267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR e gited el TEl SThT oS

(1) UeTerell 0T, Wehered, W, <o, faferen s o
(2) ETUEH, WG, Uehered, UahTeel qitor, fafuemsm ammm
(3) UHereA, |0, AT, faferems wergvn, e gt
(4) Tafoenvre I, wEEE 9RuE, YR, SEE, TEas

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 5330727267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR T el el Tel STk 11O
(1) UeTercl! IR0, Wehered, W, <o, fafere s o
(2) EUEE, VR, Uhered, UahEel 9o, faieemsmn e
(3) ehoted, |0, I, TRferemsn I, Tswee T
(4) Tafeenure I, e 9RlvE, YR, SEE, TEas

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5330727268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AEWE AfYEl T2F W YFead Aehd AThH 1S -

(1) IfCsTae, THfesT, HEraesd, TeTgare, Siaoie
(2) EfRofiet, geiiyere, WRSEe, Fiefaend, IHasy
(3) eiaeHH, TRfasE, EfTofe, TeiwERE, e g
(4) TS, TEETE, SETOTE, FHrdgerd, TR

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5330727268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s HfYe e H Ywtaosh Aewd SThy Ao -

(1) OfCSTRTeT, THfas, FelaeHd, TegErE, Seoie
(2) wfeiETe, qefydrE, TiETe, we e, THEsE
(3) FIciaeHA, THfas, EfRTofetr, TeiiwEmE, Mt g
(4) TmfasE, veltyae, sfeviie, wefaesd, mfitEms

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5330727269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S SHR T eSS el 9w i -

(1) |Y= oM, T o, Tfers 21, STaehra g, o= Hied o
(2) THM 3, GYE o, STHE A, g Hied o, Ml o
(3) GVE 3, TAMIY 3, SR A, $ies Hied o, i< o
(4)  THFE 3, GUE 2N, ST 4, e 7, o de o

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5330727269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e STHR W e dERE el 9w oo -

(1) YR 30, THEIY 30, e 3, STehr 74, ¥ers A o
(2) THET B, YL oW, SEEra Mg, org Hred 7, mie o
(3)  GWE o, T B, SR g, e Hred o, Wi o
(4)  THF I, GUE T, S 74, e @, o w9

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5330727270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“ysiy-ETe | e A e -

(1) Hiel e, farmfas frarfys, dfa<em o, Fervat = @
(2) formofaes ferafde, Mfaer o, Fetver e 20, #forcdt 2w
(3) Hfel e, Mia<e o, foumfas frafds, waiver e =@
(4) v e o, Aivel e, ifa<e® wm, faamfas fafhe

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5330727270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“oey-ETE | e S Ao -
(1) Hfel e, faemfas frarfye, Mfe<em o, Fervat = @
) formufae forafde, Mfaeer o, Fefiver et 2, Ao es
(3) Hferedt A, ifaer on, faamfer frafde, Fdtver = m
(4) eTvET = 7, Wil A2, Mia<ee™ o0, faemfas fefds

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 5330727271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafea & faamafas = ot .
(A) TETETOR

(B) JEHaEER

(C) AR

(D) S-ufTRm

e Tt faskey F 9 STF 99 FE

(1) (A)WE (B) 5
2 (B) = (O) A
(3) (B) W (D) WA
4) (O w (D)7

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 5330727271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frAfafaa & fammafas = ot .
(A)  TFTERATOR

(B) VIeHEEER

(C) s

(D) ¥-9rGRA

e e fasrey | 98 S0 99 FE
(1) (A)TE (B) "
(2 (B) W (O)WH
(3) (B) W (D) WA
4 (© v (D)¥H

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 5330727272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfaa o gwvie foe fomem =iy
(A) HfYel A2 3gua & fawm
(B) A=A

(C) HfYel ek fasma

(D) gEuie A1 feremafa

T e faheT o U8 SWE 99 FE
1) (AT (C) T

(2) (B) W (D)HE

(3) (B) W (O) "

(4) (A (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 5330727272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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feferfiaa o g fe foem =
(A) HfYel T2k 3|gua =N fawm
(B) EATETEA

(C) Hferetr ek famm

(D) gEme s fommafa

e e fasrey | 98 S0 99 FE
(1) (A)TS (C) 7

(2) (B) WS (D) A

(3) (B) WH (C) W

4 (A) T (D) A

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 5330727273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Terferd e dieftsh SR W oA Feaiifae 9 Fed o4

(A) et
(B) TEWl
(C) =
(D) SRR
T e forey 9 9 I 999 FF
(1) (B) WS (D)HmH
(2 (A) T (C)HHA
(3) (A)Wd (B) WA
(4) (O wd (D)HHA
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 5330727273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Taferd oig Yeiteh YR TR 9 Ferifaes 92 Fed 39 -

(A) <eHt
(B) qEW
(C) hImen
(D) SYAFTGER

e e fasrey | 98 S0 99 FE
(1) (B) @ (D) ¥
(2 (AW (Q)HHA
(3) (A) T (B)HH
4 (© v (D)¥H

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5330727274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefaa o gug o = oife .
(A) faamfa fia due

(B) Termmufa st

(C) forzmafa oemEeft

(D) HiY Hiw fa=matd

T T fareT o U8 SWE 99 FE

(1) (A (O T
(2) (B) W (D)W
(3) (A)wE (D)AT
4 (© U (D)TH

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5330727274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefefea § gug o = 31t
(A) foamafa fia due

(B) fer=mafa s

(C) Tommafa et

(D) g 3ifE fa=mdfa

e e fasrey | 98 S0 99 FE
(1) (A) T (C) T

(2 (B) ™ (D)W

(3) (A)WE (D) ¥

4) (O (D)"H

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 5330727275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes o Jfiome = = a9fe
(A) g gl
(B) I
(C) TE-ualz
(D) HHHAEA
T e forey 9 9 I 999 FF
(1) (A) T (B)HH
(2) (B) Wl (C) A
(3) (B) W (D) WA
(4) (D) T (C)HHA
Options :
11
2.2
3.3
4.4

Question Number : 110 Question Id : 5330727275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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efafEs B oy = = afe

(A) g gl
(B) e
(C) <37
(D) ATHETH

e e fasrey | 98 S0 99 FE
(1) (A)TE (B) "
(2 (B) W (O)WH
(3) (B) W (D)W
4 (D)WW (O) ¥

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 5330727276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfiead # < ek A i -
(A) dfes e

(B) ek TH @I

(C) JuLEIg

(D) sIE™

T e faheT o U8 SWE 99 FE

1) (AT (C) T
(2) (B) W (D)HE
(3) (B) W (O) "
4 (A)TE (B)TH

Options :

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 5330727276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freferfea & = e A At -
(A) dfed @k

(B) dek T G

(C) IR

(D) ST

¥ 1o forerey 9 9t ST 999 FF
(1) (A) W (C)Hr
(2) (B) WS (D)HH
(3) (B) W (C) A
(4) (A)TE (B)HH
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 5330727277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafes 7 arerEs =T s -
(A) GHIRIT

(B) IR THIEM

(C) fufter e sfrem

(D) wrfersl Teem

T e faheT o U8 SWE 99 FE

(1) (A (O T
(2) (B) T (D)W
(3) (A)wE (D) A
(4) (B) W (C) W

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 5330727277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafEa B ereRras = 91w -
(A) GH=RI
(B) SIeRI T
(C) Tafuen wrama sfaey
(D) Grfas gegam
A e faered 9 Tel e 999 & :
(1) (A)Ud (C) WA
(2) (B) W& (D)uH
(3) (A)Ud (D) M
(4) (B)WE (C) W

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 5330727278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafas O s fags wvess ofe .
(A) et

(B)

(C) TFTA

(D) TEHY

& et fashey I T S 991 FF

(1) (A)TE (B) 7=
(2 (B)wE (C) W
(3) (O W (D)wE
4) (A) T (D)W

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 5330727278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa 7 smes fgs Tvss 17
(A) vt

(B) T

(C) UHaHA

(D) WY

oo et fohed | 9l SO o9 FE

(1) (A)TE (B) "=

2 (B) W (C)WH

(3) (O) W (D) "M

4 (A) T (D) A

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5330727279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafed # Tt s = &
(A) HftelF 3T & faw™
(B) Taferen s foriias

(C) g
(D) oA HiUE SR
& et forhed | Tl ST 991 &

(1) (A)TE (B) 7=
(2 (B)wE (C) W
(3) (O W (D)wE
4) (A) T (D)W

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5330727279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa o Tifa< o = o1t
(A) HferelF 3T & faw™

(B) Tafeen s forna=

(C) =gare

(D) S=dY HiSEl SR

e e fasrey | 98 S0 99 FE
(1) (A)TE (B) A

(2 (B) W& ()

(3) (C) W (D) wH

4) (A) W (D)FH

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5330727280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefes & guiy Srat’ hedes e ofe
(A) g el HEN

(B) wrEd =reh ot

(C) Tt

(D) TRTEd A=
T T1e forey 9 9 S 999 &
(1) (A) T (B)HH
(2) (B) Wl (C)HH
(3) (B) W (D) WA
(4) (O wd (D)HHA

Options :

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 5330727280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

88/122



8/30/24, 11:26 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
frefafea & guiy 9w’ e s 9 s
(A) ¢ =Rl HER
(B) wwrEd =reeh ol
(C) et
(D) TR 3=
oo et fohed | 9l SO o9 FE
(1) (A)TS (B) A
(2 (B) W (O)WH
(3) (B) W (D) ¥
4 (© v (D)¥H

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 5330727281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfaa & it fama's = o

(A) TA HAieeled 3w efoead wrdrrsh
(B) FHINEH UMT #ATF T Bfafedd o
(C) T FEfET UM 311F Hied A oo
(D) U FHEReE IR A1 g Tiifeds dra

<o Tt fokew o WE ST 99 FE
(1) (A)TE (B) A
(2 (A)TE (Q)TH
3) (A)wE (D)=
(4) (B) W (O) W
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 5330727281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa 7 =it famq ' = e

(A) TA ez iE sOeaq wEarersi
(B) RIS T #1% g gfafedd wires
(C) T wHHfed UM 3 AleA 3 oivers
(D) T wEReT UM 371 g Tifegs e
e e fasrey | 98 S0 99 FE
(1) (A)TE (B) A=

2 (AT (Q)TH

(3) (A)TH (D) ¥

@ @ (©AH

Options :

1.1

2.2

3.3

4.4

Question Number : 117 Question Id : 5330727282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefaa o T S/ T o -

(A) gHsT &

(B) SURAT

(C) oTfT T

(D) YA eH

& et fashey I T S 991 FF

(1) (A)TE (B) 7=
(2 ()T (O) "
(3) (O W (D)wE
4) (A) T (D)W

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 5330727282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freferfiea o A=A S A off -
(A) G¥=1 &

(B) SHEIM

(C) S o

(D) YA e

e e fasrey | 98 S0 99 FE
(1) (A)TS (B) A

(2 (B) W= (Q)HHA

(3) (O) W (D) "M

4 (A) T (D) A

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 5330727283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfaa & =<1 2k =1 foep
(A) SRS
(B) Wiy

(C) TaforeTIES

(D) wHTE foem™

&a Tt foshew o U8 WS 99 FE
(1) (A)TS (B) A

(2) (B) W (C) W

3) (© W (D)wH

(4) (A)TI (D)W

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 5330727283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa 7 == g = e
(A) drdreard
(B)  HIUTEA v =i

(C) fafeemres

(D) wEHEER foem™

e e fasrey | 98 S0 99 FE
(1) (A)TS (B) A

2 (B) W (C)WH

(3) (O) W (D) "M

4 (A) T (D) A

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 5330727284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafeaa & favras yer &fe
(A) =39

(B) T

(C) Tt v

(D) ATAaA

T e faheT o U8 SWE 99 FE

(1) (A)TE (B) 7=
(2) (B) W (D)W
(3) (AW (C)wmE
4 (© U (D)TH

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 5330727284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafEs o faues yFr afs

(A) =
(B) A
(C) Tl
(D) ATAaH

e e fasrey | 98 S0 99 FE
(1) (A) TS (B) A=
(2) (B) WS (D) A
(3) (A) T (C) W
4 (O Ud (D)¥H

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 5330727285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa To-ufsers graes gz o 'gad @iy -

(A) Tafyen =9A

(B) Tafen ffex

(C) T

(D) @R

T e faheT o U8 SWE 99 FE

(1) (A)TE (B) 7=
(2 (B)WE (C) W
(3) (B) WS (D)W
4 (© U (D)TH

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 5330727285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa T=-ufes Traes g o 'gae 2y -

(A) fafeer =vm
(B) Tafoen ffex
(€) vt
(D) @=H

e e fasrey | 98 S0 99 FE
(1) (A) TS (B)#H
(2) (B)WE (C) T
(3) (B) W (D)W
4 (© v (D)¥H

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 5330727286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ik |ifecd I TSIva 3ireh Tiefl 31fe -
(A) HiYER @R
(B) al=Icieh WedwRciA oo Hifeed
(C) Hferedt drrmene sfaerd
(D) <reRmen fae=m
<o Tt fokew o WE ST 99 FE
(1) (B) ™ (D)W
(2) (A)WE (D) T
3) (© W (D)"H
(4) (B) W (O) W
Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 5330727286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T Oifec T2 Jergat 3 dielt 211

(A) HfYeR eepaed

(B) Yalacieh WeAwciA doTd Hifee
(C) et eirrmens 3faem

(D) <rRmen fee=A

e e fasrey | 98 S0 99 FE
(1) (B) W& (D) A=

2 (A)TS (D)W

(3) (C) W (D) ®H

@ (B W (O)"H

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 5330727287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafeaa & Hrarm s = afs
(A) =R

(B) UEETH

(C) SYSTMEHT

(D) Hiel sweETEa

T e faheT o U8 SWE 99 FE

1) (AT (C) T
(2) (B) WS (D) M
3) (© W (D)"H
4 (A)TE (B)TH

Options :

1.1

2.2

3.3

4.4

Question Number : 122 Question Id : 5330727287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ffafas o Harm e = A
(A) =9
(B) UEHTTH
(C) STTTETHTE
(D) Hf¥e HeETer
¥ 1o forerey 9 9t ST 999 FF
(1) (A) W (C)HrA
(2) (B) WS (D)HH
() (C) Ul (D)HH
(4) (A)TE (B)HH
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 5330727288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Freferfia & STRoR ot afrrgs s T offs ;

(A) #AfTeE
(B) oHRIsImTe
(C) e
(D) HAGARITER

T T1e forey 9 9 S 999 &
(1) (B)wd (C)
(2 () wd (D)HHA
(3) (A)WE (C) WA
(4) (B) W (D) AT
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 5330727288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafEa o seifrviR =i wfvres ‘% 3= &1l

(A) AT
(B) hIGITE
(C) dfemm
(D) STGARIYR

¥ 1o forerey 9 9t ST 999 FF
(1) (B) Wl (C) A
(2 (C)Td (D)HHA
() (A)TE (C) A
(4) (B) W& (D)HmH
Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 5330727289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefetfiaa & sre=1si 3 ' o7 " Herked &

(A) GHsERIM

(B) Hfas goes

(C) Fa=ia

(D) fewoft g1

& et forhed | Tl ST 991 &

(1) (A) T (D)
(2 (B)WH (C)HmH
(3) (B) W (D)W
4 (A)TE (B)TH

Options :

1.1

2.2

3.3

4.4

Question Number : 124 Question Id : 5330727289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freferfiaa & agaTsi = ‘ 313 ' HerRe @

(A) GHSRIT
(B) Hfdsm qEd
(C) =R
(D)  Efeoft g1

¥ 1o forerey 9 9t ST 999 FF
(1) (A) T (D) A
(2) (B)WH (C) A
(3) (B)ud (D) Hm
(4) (A)TE (B)HH
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 5330727290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafas o sT=aifareas 2w e .
(A) FfTRR TEH

(B) WYEET AEH

(C) THEFT T=H

(D) HfgagereaeE TeH
& et fashey I T S 991 FF
(1) (A)Td (D) A
(2 (A)TE (B) W
(3) (A)WE (C) WA
(4) (B) W (D) ATA
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 5330727290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafea T srsatead s qfs
(A) FIHAERR TeH
(B) WHEdEY e
(C) WHEFA e
(D) HicTFaeTaTe 2%
¥ 1o forerey 9 9t ST 999 FF
(1) (A)TS (D)AM
(2) (A) T (B) A
(3) (A) T (C)HA
(4) (B) W& (D)HmH

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 5330727291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

| 11
ERE o] FT—THEHTT
(A) HF FeH 1N fae Y
(B) U™ () ey o fafea’
(C) =wet Tt (II1)  SSTIeRIT aml ‘AfoTagH '
(D) 3UHER (IV) ZFERY =re

e Tt fasread e 5o 999 &%
(1)  (A)D), (B)-(II), (O)-(11D), (D)-(IV)
(2)  (A)(1V), (B)-(ID), (O)-(IID), (D)-(I)
(3)  (A)HAD, (B)(ID), (O)(1V), (D)~(11D)
4) (A1), (B)-(1D), (O)-(V), (D)-(D)

Options :

1.1

2.2

3.3
4.4

Question Number : 126 Question Id : 5330727291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafEs ST=arTs 97 SU=THERE iom &6 -

-1 -1
I0ATH FTTHERTT
(A) THE e 1M foen ¥
(B) FU (1) fommy o fafed’
(C) =Hel T (II1) srsTfRei e ‘wivrggs '
(D) SUHER (IV) hERATY =1er
A T fasherd qel ST w99 FE

M (A1), (B, (O)-(I), (D)-(IV)
(2 (A)-IV), (B)(1D), (O)-(I), (D)-(I)
(3) (A, (By-(I), (O)-(1V), (D)~(I1)
(4) (A1), (B)-(11D), (O)-(1V), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 533072729
Correct Marks : 2 Wrong Marks : 0

2 Question Type : MCQ Option Shuffling : No

-1 11

TEATERTT wHad
(A) e gErg foe () 1926
(B) iy ¥R’ et (I) 1929
(C) ==yH fee (1) 1911
(D) USTRHE =ATE (IV) 1922

& e Tashead 9l 3o <91 & ¢

(1) (A)-(), (B)-(IV), (O)~(D), (D)-(IT)
(2)  (A)-IV), (B)-(IL), (C)(ID), (D)-()
(3)  (A)-(m), (B)-(ID), (©)-(D), (D)-(1V)
@) (A1), By, (O-(IV), (D)}-(IT)

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 5330727292 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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(A) e yETE foE

(B) gHiy dE’ el
(C) ==y fHe

(D) TSTRHE A

(D
(1D
(II)
(IV)

o e Toshed Uel ST =99 FF

(1) (A)-(1m), (B)-(IV), (O)(I), (D)-(IT)
(2)  (A)-(IV), (B)~(IIT), (C)(IT), (D)-(L)
(3) (A)-(O), (B)A1D), (O)-(1), (D)-(IV)
(4)  (A)-(1), (B)-(IT), (C)(IV), (D)-(IT)

Options :
1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 128 Question Id : 5330727293 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

frefafa @ § s UriYEs 97 fHam &6 ¢

Teil-1 Tet-11
™ RIS
(A) %0 N SR
(B) Md I 9T
(C) =R () foem
(D) @™ (IV) ¥
<@ Tt fosresd Tl SF =99 FE ;

(1) (A, (B)(I), (©)-(V), (D)-(I)
(2) (A, (B)-(), (©)-IV), (D)-(I)
(3)  (A)-(1V), (B)-(ILL), (O-(D), (D)-(ID)
@) (A, (B)-(IV), (OAD), (D)-(I1)

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 5330727293 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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fr=fafad @ § s wrftyEs 97 foes &% -

Teil-1 Tt-11
™ TR
(A) e @ SR
(B) STRMd (I 9T
(C) @R (1 fawm
(D) @Tye" (IV) ¥
< T fashead el 300k 991 &

(1) (A, (B)-(1D), (C)-(1V), (D)-([)
(2)  (AID, (B)-(), (C)-(1V), (D)-(I)
(3)  (A)-(IV), (B)-(IL), (O)(D), (D)-(IN)
(4)  (A)-(II), (B)-(1V), (O)-(L), (D)-(IT)

Options :

1.1

2.2

3.3
4.4

Question Number : 129 Question Id : 5330727294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MHTeiad ek FaRE 97 fHeH &6 ¢

Teil-1 Tet-11
Her HATRTT
(A) = O TER I
(B) AT T e (1) 99 FER =
(C) =& (LD wrET=< g
(D) TR (IV) T oA
< T fashead el 300k 991 &

(1) (A1), (B)-(), (O)-(1), (D)-(IV)
(2)  (A)-IV), (B)HID, (O)-(D), (D)~(I1)
(3) (A1), (B)-(I), (O)-(I), (D)-(IV)
(4) (A1), (B)-(11D), (©)-1V), (D)-([)

Options :

1.1

2.2

3.3
4.4

Question Number : 129 Question Id : 5330727294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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MHTeiad ek FaRE 97 fHeH &6 ¢

Teil-1 Tt-11
Her HATRTT
(A) A O TER I
(B) I T e (1) 99 FER =
(C) =® (Il wrET< g
(D) TR (IV) T e
< T fashead el 300k 991 &

(1) (A)-(ID), (B)-(), (O)-1), (D)-(IV)
(2)  (A)-IV), (B)HID, (O)-(D), (D)~(I1)
(3)  (AID), (B)-(D), (O)-(1m), (D)-(IV)
(4) (A1), (B)-(11D), (©)-1V), (D)-([)

Options :

1.1

2.2

3.3
4.4

Question Number : 130 Question Id : 5330727295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

f=feriEd IT=amges 9 |7 /M F

Teil-1 -1
(A) T OEERECK
(B) Torerd 9ra am mer () wErEE
(C) Tagfen (IIT) THEE
(D) 3-F« (V) §=

<o et oo OEl ST 999 %6
(1) (A)-(I), (B)-(IV), (C)~(1D), (D)-(I)
(2)  (A)IV), (B)-(D), (C)-(II), (D)-(11I)
(3)  (A)-(1D), (B)-(D), (O)-(IV), (D)-(I)
4)  (A)-(IV), (B)-(IIL), (C)~(1I), (D)~(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 130 Question Id : 5330727295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fefafEs so=mas 9= 91 foam &%

i1 TEfi-11
(A) T ((EEREEL
(B) Torerd 9ra am meR () HErEE A
(C) e (1) IHEE
(D) TU-Fe (IV) §t=
& e TasreTd 9 ST =99 F&

(1) (A, (B)IV), (OAID), (D)-(I)
(2) (A1), (B)-(D), (©)-(1), (D)-(I1)
() (A1), (B)-(), (©)-1V), (D)-([)
(4) (A1), (B)-(II), (O)ID), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 5330727296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

uf3rent WehTITT oY
(A) Tafyemey™ (FaweER #) () 1981
(B) TAferemfafey (I) 2009
(C) FuIgd (II1) 1950
(D) aeEl (IV) 1909
< T fashead el 300k 991 &

(1) (A)-D), (B}-(IT), (C)-(II), (D)-(IV)
(2)  (A)ID, (B)-(), (C)-(1V), (D)-(I)
(3) (A, (B)-(IV), (O)-(11), (D)-(D)
(4) (A1), B)-(1V), (O)-(1), (D)1

Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 5330727296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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uf3rent WehTITT oY
(A) Tafyemey™ (FaweER #) () 1981
(B) TAferemfafey (I) 2009
(C) FuIgd (II1) 1950
(D) aeEl (IV) 1909

<@ e fasheqd Te IO T FE
(1) (AND, (B-(I), (O, (D)-(IV)
(2) (AW, B)-aW, (C)-aV), (D)0
(3) (A1, B)-IV), (O, (D)0
(4) (A1), B)-(1V), (O)-(1), (D)1

Options :

1.1

2.2

3.3
4.4

Question Number : 132 Question Id : 5330727297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=fafE gersas RS 97 oo &

Teit-1 TeAT-11
TR TIATRTT
(A) =R (1) SIS e
(B) FoTafE (I) <Ay ek 9y’
(C) Yip=iel (IIT) e
(D) Wi avEs (v) ==vd fag

<A e forsheTd Tel I w9 FE
(1) (A1), (B)-(), (O)-1), (D)-(IV)
(2)  (A)ID), (B)-(), (C)-(1V), (D)-(I)
(3)  (A)-(I), (B)-(IV), (O)(ID), (D)-()
(4)  (A)-(1V), (B)(II), (O)~(T), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 132 Question Id : 5330727297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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=fafE gersas RS 97 oo &

Teil-1 Tt-11
ETehTe TSR
(A) =R (1) TS o o
(B) FurHAfE (1) <A e a9y
(C) V=Tl (1) ==
(D) = qUee (V) =r=9H fas

<@ e fasheqd Te IO T FE
(1) (AW, B, ©-1), (D)-(V)
@ (A)-W, B-, ©-1V), (D)
(3) (A1, BI-IV), (O, (D))
(4)  (A)IV), (B)-(IIL), (C)-(L), (D)-(IT)

Options :

1.1

2.2

3.3
4.4

Question Number : 133 Question Id : 5330727298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafiad crass diefie 91 faem & .
Teii-1 Tet-11
[Greea ar=it

(A) wforfy O e B

(B) =& (I) =&

(C) =TS (III) A

(D) Ya=sIe (IV) 9EFa-g=rdl

<A e forsheTd Tel I w9 FE
(1) (A1), (B)-(1), (O)~(II), (D)-(IV)
(2)  (AHIV), (B)(ID, (O)-(1), (D)~(I0)
(3) (A, (B)-(IV), (O)(I), (D)-(IN)
(4)  (A)-(D), (B)}-(IIL), (C)(ID), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 133 Question Id : 5330727298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa Trass defs 971 foam & ¢
geft-1 Tei-11
[GieEa ar=it
(A) forfy O fosra HmHa
(B) =M (I1) R\
(C) =TS (III) sTeeTeart
(D) YessIe (IV) 9EFd-9ehTdl
<o ot faseqd Ol SO 999 FE

(1) (A1), B)-(0), (O)-(1), (D)-(IV)
(2)  (A)-IV), (B)HID, (O)-(D), (D)~(I1)
(3)  (A)-(), (B)-(IV), (O)(D), (D)-(IN)
(4)  (A)(D), (B)-(ILL), (C)-(1), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 134 Question Id : 5330727299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=Teiad =R EAERE 9 faH &6 -

Teft-1 TeAT-11

= TR
(A) wfea-ogfa O Sy fag A
(B) fga-g3-gar () 39= 3 ‘Hed'
(C) fergft =fe gast v (L) &It wEig f6e
(D) Hferet (IV) Erame =0
< T fashead el 300k 991 &

(1) (A, (B)D), (CO(ID), (D)-(IV)
(2)  (A)IV), (B)~(II), (O), (D)-(I)
(3) (A1), (B)-(I), (O)-(I), (D)-(IV)
(4)  (A)(D), (B)-(IT), (O)(1V), (D)~(I1L)

Options :

1.1

2.2

3.3
4.4

Question Number : 134 Question Id : 5330727299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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=Teiad =R EAERE 9 faH &6 -

Teit-1 Tei-11

=T TR
(A) wfea-ogfa O Sy fog A
(B) fGa-g3-gar () 3= 3 ‘Hed'
(C) fergft #fe gasi v (L) & wEg foe
(D) Hferef (IV) Hrar =
< T fashead el 300k 991 &

(1) (A)-(Im), (B)-(D), (CO-(1D), (D)-(IV)
(2)  (A)IV), (B)~(II), (O), (D)-(I)
(3)  (AID), (B)-(D), (O)-(Im), (D)-(IV)
(4)  (A)(D), (B)-(IT), (O)(1V), (D)~(I1L)

Options :

1.1

2.2

3.3
4.4

Question Number : 135 Question Id : 5330727300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffafag diefer 37T egss 97 e %%

Teil-1 Tet-11

dreft SicE)
(A) TFeln (Weked) (1) Fgsrsi A e’
(B) sTaraEfid (I) =erY ey’
(C) wfdar-umwed (L) SrHreT el 59
(D) W (IV) Erame =0
<@ Tt fosresd Tl SF =99 FE ;

(1) (A)IV), (B(ID), (O)-@), (D)-(I)
(2) (A, (B)IV), (OID), (D)-(I)
(3)  (A)-(I), (B)-(IV), (O)-(I), (D)-(IN)
(4)  (A)-(D), (B)}-(IT), (C)~(II), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 135 Question Id : 5330727300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ffafag dieffer 3T dgss 97 e %%

Teil-1 Tt-11

dreft SicE)
(A) WEwen (Eewed) (1) S o e
(B) sTaraEfid (I) reEY ey’
(C) wfaar-umed (L) SrHeY el 39
(D) W (IV) Hrar =
< T fashead el 300k 991 &

(1) (A)-1V), (B)(ID), (O)-[), (D)-(1M)
(2) (A, (B)IV), (OID), (D)-(I)
(3) (A, (B)-(IV), (O)-(1), (D)-(ID)
(4)  (A)(D), (B)-(ID), (O)(I1), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 136 Question Id : 5330727301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffafag diedrer 2T TEfEars 9 fTam %

Teil-1 Tet-11

Treft Tafaar
(A) sfeerEia () oW =
(B) TrafersT () <a
(C) R aeth (Il1) <A g
(D) i aergH (v fermafa

<@ Tt fosresd Tl SF =99 FE ;
(1) (A, B)-(0), (O(1V), (D))
(2)  (AIV), (B)~(IIL), (C)-(ID), (D)-(I)
(3)  (A)-1D), (B)-(1V), (O-I), (D)-(I)
(4) (A)-(II), (B)-(1D), (C)-(IV), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 136 Question Id : 5330727301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ffafag diedrer a7 TEfEars 9 fTam %

Teil-1 Tt-11
oreft Tafaar
(A) wfeerEia ()  Eramw s
(B) Trafes () e
(C) #R aeth (Il1) T g
(D) e deergHn (v) fe=mfa
< T fashead el 300k 991 &

(L) (A1), B)-(0), (O)(1V), (D)-(I)
(2)  (A)IV), (B)~(II), (OID), (D)-I)
(3) (A1), (B)-(IV), (O)-(I1D), (D)-(I)
(4)  (A)-(II), (B)-(1D), (C)-(1V), (D)-(D)

Options :

1.1

2.2

3.3
4.4

Question Number : 137 Question Id : 5330727302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes =T g7 99 ¥ fiee &% :

Teil-1 -1

LLE TASTEIT
(A) rged () WUSTATFA
(B) T () siEfErEn
(C) Wew (IIT) o=y
(D) e fyEfes (IV) qreTay
< T fashead el 300k 991 &

(1) (A1), (B)-(), (O)-(1V), (D)-I)
(2) (A, (B)IV), (OL), (D)-(I)
(3)  (A)-(IV), (B)(ID), (C)-(1), (D)~(I1)
(4)  (A)-(II), (B)-(L), (COH(IV), (D)(IT)

Options :

1.1

2.2

3.3
4.4

Question Number : 137 Question Id : 5330727302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefefE =T g1 99 9 ffe &
o 11
LLE TASTEIT
(A) Tged () WUETATFA
(B) T () siEfErEn
(C) ¥ 2 (III) o=y
(D) =N fEfes (IV) e
< T fashead el 300k 991 &

(1) (A1), (B)-(10), (C)-IV), (D)-(0)
(2)  (A)-(I), (B)-(IV), (O1), (D)-(IT)
(3)  (A)-(IV), (B)(ID), (C)-(1), (D)-(I10)
(4)  (A)-(), (B)-(I), (O-(IV), (D)-(IT)

Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 5330727303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferiEs Areshes 9 G f0em % -

Teil-1 THt-11
(A)  wwrEd =ree o (I) HEHH
(B) ITCSTIAET (I) Sl
() ezt () e
(D) FHATHIAER TH-ALHD 1 Hidl (IV) 9Tl

A Tt fasreTd 9el STeh 997 F& :

(M) (A1), (B)-(), (©)-(V), (D)-(0)
(2) (A, (B)(ID), (©-(V), (D)-(1)
() (A)-IV), (B)-(IL), (C)-(D), (D)-(11)
(4) (AT, (B)D), (CO-(IV), (D))

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 5330727303 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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=fefEd Aresds 93 97 fJaH 6

Teil-1
(A) YwrEd e fo
(B) TSIl
(©) et

(D) FHHATHITER TH-ALHD &1 il

& o fasreqd T ST 999 FF

(1)  (A)ID, (B)-(I1D), (C)-(1V), (D)-(T)
(2) (A1), (B)-(1D), (©O)-(1V), (D)-(D)
(3)  (A)-LV), (B)~(IID), (O)~(I), (D)-(IT)
(4)  (A)-(Tm), (B)-(I), (O-(IV), (D)-(IT)

Options :
1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Tet-11
() HANH
(I)  SRell
(1) e
(IV) WehT!

Question Number : 139 Question Id : 5330727304 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

frefafiad smard ud g9 5a% 67 i &€ .

Teil-1

e
(A) el
(B) WEAEH
(C) YeTIH
(D) aTw

Options :
1.1
2.2
3.3
4.4

-1
A

qrTaTg
stfverfaare

(1) Icufwars

(IV) AFHIER
<o ot faseqd Ol SO 999 FE

(1) (A)-(D), (B)-(1D), (O-(1V), (D)-(11)

(2) (A)-(II), (B)IV), (O)AL), (D)-(IT)

(3)  (A)-(1), (B)-(IV), (C)-(II), (D)-(I1L)

(4)  (A)-(ID, (B)-(11D), (©)-(1V), (D)-(1)

Question Number : 139 Question Id : 5330727304 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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frefafaa s T8 g7 wask 9 fiem &%

Teil-1 -1
e T
(A) vgEIERE (D e
(B) vEUIEH (I)  sifeAfERaTR
(C) WA (1) eqfeers
(D) ST (IV) STIHHETE

<@ e fasheqd Te IO T FE
(1) (AND, (B-(ID), (CHIV), (D)-(I)
(@) (A)-(), (B1IV), (CHD, O}
(3) (A, BHQV), ©-(1), (D))
(4) (A1), (B)-(11D), (©)-1V), (D)-([)

Options :

1.1

2.2

3.3
4.4

Question Number : 140 Question Id : 5330727305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeg fFeas FEges 971 o &+

Teil-1 -1

Fau IEEPCaEs
(A) wHtEh () ey e e
(B) &l A wfersafa (I s g
(C) o Hes : TR feufa () T

(D) =y Hferel arfec « s g9mE (IV) Yo e
<@ Tt fosresd Tl SF =99 FE ;
(1) (A, (B)-(IV), (O)(I), (D))
(2)  (A)-(II), (B)-(IV), (O(1I), (D)-(I)
()  (AHIV), (B)-(II), (O)-(11), (D)-(I)
(4) (A1), (B)-(1D), (C)-IV), (D)-()
Options :
1.1
2.2

3.3
4.4

Question Number : 140 Question Id : 5330727305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fefeg fFeas FEges 971 o &+ &
Teli-1 -1

Fau IEEPCaEs
(A) Wit () ey ¥re e
(B) &l A wfersafa (I sFE fag
(C) o Hey : wrrEs feufa () T A
(D) anyfrer Hioredl arfecy :3fsieE gurE (IV) THTERS e
< T fashead el 300k 991 &

(1) (A)-(II), (B)-(IV), (O)-(L), (D)-(IT)
(2)  (A)-(II), (B)-(IV), (O1I), (D)-(I)
(3)  (A)-(IV), (B)(II), (O)«(1D), (D)-(1)
(4) (A1, (B)-(1D), (©O)-(1V), (D)-(I)

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072288
Question Shuffling Allowed : No

Question Id : 5330727306 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No Question Pattern Type : NonMatrix
Question Numbers : (141 to 145)
Question Label : Comprehension

foret TerioTeR eaTdeR ufe Ui wierg wyTaeler ST AT el ag-fasheud wd (faeew ) & wEe @
Hfee wirekf4 Ao o2 g gga 99 | ik oM, 9 G- efare Same-yHies S o

T 2D | Wi faame & auie avitered otfe & wed stfe | e’ W fim: ' ufe wremifaas
Jerefd] ufe aviH F e e wgg, i, faoren gei enfe gEed emeel wifee fafeem yafaa sfs |
TR | 30 TFN o6 3eoid 9a 31fs | Afed diefa deit, faaee, sz, &=, =9id 9oy, SHEy,
ST, TORTd, SHfSArETs, Te wyfa 9 319 9§ - 9% T 9o | ST e S
T T | TN Jeod Tal JuReTR @ife ) ufe I oW oite o Wil wd enfe Trene | afevens

TEEH Beleh SR T Y A Fifos MU SEam 6w | T-faiTE do-Ferd, FAFHieEn Joed
U 21 | Ay UETHEE W S SaEa ufe T sremed Afe eife | e i 9 w9 e,
oife | ufed ®Fl Heg Afe e wes S ffeers s ures o8 firg oa | skl oo ufe oW Afe 1fs ofe
T Uq T 9 YHH Sefe WUErE Y9er e 3| TR F9eal UHE d9 FYE Fd9er Jatad 39|
FURATRTH F31 ¥ o 9vfe 37fe aife ¥ smyfer fafereres arefor Sares a1 Ue sadsyaars Jreiars

A B= | fufumrs giia 9 asfug wd ufag aifs

Sub questions

Question Number : 141 Question Id : 5330727307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Yoot faege 9o afe
(1) 9|

(2) A

(3) TR

(4) e

Options :

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 5330727308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" Uit T YR A
1) 27
2) 28
(3) 29
) 30
Options :
1.1

2.2

3.3
4.4

— p—

Question Number : 143 Question Id : 5330727309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e wreRf SHIfavs FeTd 98 Hiad 9dm®
(1) AUy

(2) FHEETR

(3) FHHETY
(4) g
Options :

1.1

2.2

3.3
4.4

Question Number : 144 Question Id : 5330727310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) eeds

(2) V=

(3) THRIRER
(4) TETHERIR
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 5330727311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Options :
1.1
2.2
3.3
4.4

Question Id : 5330727306 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

foret TerioTeR saTdeR ufe Ui wrerg wyeTaelter WY AT el g-faeheud wd (faeew ) @ wee W
Hferet TieRf Arg-Hter 92 {3 e 249 | s dem, 9% 9n-97 9eitarfe e THies I 9
T 2EW | iR faames & auie avitered sife & g wed sife | e’ W fim: ' ufe wrenifaas
Jerefd] ufe aviH F e e wgg, i, faoren gei enfe gEed emeel wifee fafeem yafaa sfs |
TR | 30 TFNeh 96T Seod 9 31fs | Aifed diefq deit, faeee, s, i, =id 9oy, hHey,
ST, TORTd, SHfSArETs, Te wyfa 9 319 9§ - 9% T 9o | ST e S
I T | TN oo Tl TR e ufe ¥ SFEE oite o Wil Hd enfe Trene | wfetens
TEEH Beleh SRt T Y A Fifos MU SEam 6w | {-faiTE do-Ferd, FAFHieE e
AU 21 | A JETHEE U i saTd Ufe Tee v HAfe oif | e vl 9 w9 s,
aife | ufed 1 geE Afe R ses o ffuemss s ures o g o0 | wiefs Seea ufe uee Afe «ifs ufe
T Uq T | qHH Sefe WUErE Yue e 36| TR F9eal UHE d9 FYh Fd9er yatad 39|
FURATRTH F31 ¥ o 9vfe 37fe aife ¥ smyfer fafereres arefor Sares a1 Ue sadsyaars Jreiars
A Bes | fufuers gifa 92 deya ud ufag sifs |

Sub questions

Question Number : 141 Question Id : 5330727307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Yoot faege 9o afe
(1) 9|

(2) A

(3) TR

(4) H@

Options :

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 5330727308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" Uit T YR A
1) 27
2) 28
(3) 29
) 30
Options :
1.1

2.2

3.3
4.4

— p—

Question Number : 143 Question Id : 5330727309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e wreRf SHIfavs FeTd 98 Hiad 9dm®
(1) AUy

(2) FHEETR

(3) FHHETY
(4) g
Options :

1.1

2.2

3.3
4.4

Question Number : 144 Question Id : 5330727310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) el

(2) V=

(3) THRIRR
(4) TETHERIR
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Options :
1.1
2.2
3.3
4.4

Question

Number : 145 Question Id : 5330727311 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Options :
1.1
2.2
3.3
4.4
Sub-Secti
Sub-Secti
Question

Question

on Number : 3
onld: 533072289
Shuffling Allowed : No

Id : 5330727312 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No Question Pattern Type : NonMatrix

Question
Question

Numbers : (146 to 150)
Label : Comprehension

e Trerioven eargder ufe ufed wrag wyaeiter ST A oot ag-faseud wd@ (faden ) & we o

Sub ques

Question

o feeR Afe W&o, Wad 9gord Ted 2ife | TWaE 9earey Sia"d 9 el Jefcl Ed 8 | SiaE
T FCETeld JoaH e Hel o' Sied 99 | Tfas Te S St ST T weres o Sifecgh uiasE
aEd, YT 2 fawm At ' O oW A O I ofea fafyers amfees sa
Uftareer TRy gfterirer dga Afs | sfiseree 19 deaa °ft ek R gfafted ' e T a9 s
YA SR H1fHE q1 Vipfas AR T2 Tid &3 Jed 9 | Ufe A SAlerh 97 b
AR SH-YIRG GRS e | S99 IR YRaE fafis v SrEr e S TER W 6 |
UNGF 4F 9ITH Sk 99 391 999 ATl | UhRL TdfRarh T8 W U0 SEErS U STREATsTR
<RI S 96l | TS AT T, Tl foeehms, Tl s9m=< oife wifiie Td amifsed Fameehid
HRITH GRI SHHEHRIH Uk ol = §9R 9 | Hold: THISH T 76 SR ST | 9966 S5
TSR TEAR-TOR Y AT Haesiel Tk e o elle a9 31993799 AIg9TTeE 716 s
WIS EARICeh T BadH SId el | 31 @4 3799 9797 U5 9 T8masy fog = <a 1 wema:
ryETed Wifecrd URd o' 10 & Serey Seaited o' e e T 379 HIgTHT Wifeeds Fa ara-
oy Tufag FReT e T 99 1R § frg 99 9, i e e stava 99 S ok TeEaE
i ARt Ue o Bfe aifech foe fuw a6 Teee |

tions

Number : 146 Question Id : 5330727313 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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foferemes Qrofsres Sfeqs gfitady 9

(1) Haleq v
(2) HSREH YRTEM
(3) TEW YA
(4) SO T

Options :

1.1

2.2

3.3

4.4

Question Number : 147 Question Id : 5330727314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 iR SRR Tenfun T e 9
(1)  GrIfSiek aem st

(2) ®fHeR T HishiaE

(3) GrIfSTeR qen enfefs

(4)  wTHeR a1 WitHiaER

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 5330727315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W fafirs i SRy 39Te o194 STl | Siafsran TEy e S 96
(1) SEIGHTS U SEgHrsTs
(2) HHEHTS UH SAEHHSR
(3) TAEH ¥ U SEEHSE
(4) EEETS UE AREHTSTR

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 5330727316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST TER-YER 9o THISTE Taeayie ¢ STEsd T8

(1) W gfd
(2) HHS Ufd
(3)  afUSies gfd
(4)  HGUTETE Ufd
Options :
1.1
2.2
3.3
4.4
Question Number : 150 Question Id : 5330727317 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

TR 37O HIGHTTT Hifecas U= HiaTF og S 9

(1) YA yEfeTs
(2) oMY WERETH
(3) A EfeTy
(4) TFHFHEAR AT
Options :
1.1
2.2
3.3
4.4
Question Id : 5330727312 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No Question Pattern Type : NonMatrix

Question
Question

Numbers : (146 to 150)
Label : Comprehension

e TrerioveR eargdeR ufe ufed W wyTaEiter S g ofel ag-fasheud wd (fasen ) &% w5

Sub ques

o feeR Afe W&o, Wad 9gord Ted 2ife | TWaE 9earey Sia"d 9 el Jefcl Ed 8 | SiaE
FH FeETeld HeaH TREd Hel o' 9gd 99 | TIfash der Sk Sl ST | wear o Sifecgd uiesE
aEd, YT 2 fawm At ' O oW A O I ofea fafyers amfees sa
Ui ey it dnd sife | S g dlad 9t e SRl gfdftad 9" i Sa a9 e
YA SR H1fHE q1 Vipfas AR T2 Tid &3 Jed 9 | Ufe A SAlerh 97 b
AR SH-9IRY TR A | S99 IR YRaE fafis v STER e S TE WY S |
UNGF 4F 9ITH Sk 99 391 999 ATl | UhRL TdfRarh T8 W U0 SEErS U STREATsTR
I S 96l | TS AR T, W@l foeermw=s, @il s9m= oife s & amfses Famees
HRITH GRI SHHEHRIH Uk ol = §9R 9 | Hold: THISH T 76 SR ST | 9966 S5
TSI TEAR-YER Y GHSIE HaeTsiel @i e ¥ e a9l 3T99-3797 HIGHITE ST1eT Famh
WIS EARICeh T BadH SId el | 31 @4 3799 9797 U5 9 T8masy fog = <a 1 wema:
rvaT Aifecrd AT 977 10 & aTrer Y Seaited o' e STHe T ST9H WG e Fa ara-
foread Tufag FReT o T 99 e § frg 99 9, i e uden stava 99 S ok TeEa
i Grkiel Ut aor Sl wfec forg faw a0 T |

tions
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Question Number : 146 Question Id : 5330727313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfereres Qs SemH aited s e ¢
(1) HXEY Y=

(2) STSNEH YT

(3) TGN varEH

(4) SEH v

Options :

1.1

2.2

3.3

4.4

Question Number : 147 Question Id : 5330727314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

it wirepfa srferepr Tenfua =7 =ed ol
(1)  STHTfSIeR T TSt eh

(2) wifier T Hiepias
(3) Wk qen SfelE

(4) enfifer aen wiekfaF

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 5330727315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WA Tafvel YrTH SrehEY 3918 999 anTel | Aidihdl Ty sfare S 9 ;
(1) SRS Us STEEnTsTs
(2) YHTHS Ud SEEHSE
(3) T ¥ U SRS
(4) UHTHS Ud AFYHSTE

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 5330727316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SIS TAR-TER I Gorers Gogie i ShTEsd 9
(1) ek gfd
(2) HHE Ufd
(3)  afUSies gfd
(4) TR i

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 5330727317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR 37O HIGHTTT Hifecas U= HiaTF og S 9
(1) YA yEfeTs

(2) iR srEfveT

(3) FEA wafveE

(4) TFHFHEAR AT

Options :

1.1

2.2

3.3
4.4
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